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Each subject will consist of two sections. Section A will consist of 35 Questions and Section B will have 15 questions, out
of these 15 Questions, candidates can choose to attempt any 10 Questions.
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L Each question carries 04 (four) marks and, for each correct answer candidate will get 04 (four) marks.

IL For each incorrect answer, 01(one) mark will be deducted from the total score.

I To answer a question, the candidate has to find, for each question, the correct answer/ best option.

IV However, after the process of the challenge of key, if more than one option is found to be correct then all/any one
of the multiple correct/best options marked will be given four marks (+4).
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BEWARE OF NEGATIVE MARKING

TOPIC : FULLSYLLABUS (MODEL)

SECTION-A

HUs-A

Attempt All 35 Questions

9f 3593 AfEE 21

A car travels a distance S on a straight road in
two hours and then returns to the starting pointin
the next three hours. Its average velocity is.

(1) S/5
() 2S/5
(3) S/2+S/3

(4) None of the above

Roads are banked on curves so that

(1) Component of normal reaction can provide

centripital force

(2) The frictional force between the road and vehicle

may be decreased
(3) The wear and tear of tyres may be avoided

(4) The weight of the vehicle may be decreased

A particle is projected with a velocity v ;wéh that
its range on the horizontal p[ane ist twi@e ‘the
greatest height attained by it. The range” of the
projectile is (where g is acgeleration due to
gravity)

2

M 59 2 52
v a?
(3) 3 “4) J5

A force of 19.6 N when applied parallel to the
surface just moves a body of mass 10 kg kept on
a horizontal surface. If a 5 kg mass is kept on the
first mass, the force applied parallel to the surface
to just move the combined body is

(1) 29.4N
@) 39.2N
3) 18.6N

@) 426N

2.

3.

4.

o SR Al g WA qod F STt aF et @ 9
A A 9o A IRPYE g W A 3 e 2
aHI 3itad 3 2

(1) S/5

(2) 2s/5

(3) S/2+S/3

@) T ¥ wE T

¥R 9% 99 1 I3 g8 = 2 ol

(1) S giRfrar 1 ek ARAT 961 T TR

(2) W@maﬁéﬁaaﬁm&wwmaaﬁ

‘@ aﬁwm@mﬂmwﬁ

(4) aTEST =1 ¥R 9 Frar o 9

T 9T &l v ¥ 39 YR 98T e s @ R
A 9o W IEE) 909 SES 51 I AT S
A T 2, w0 o) 909 2 (SRR g el e 2)

(1) 5g @ 5.2
v a2
() 5 (4) N

I} 19.6 g1 &l 9 141 10 BRaT & Rvs W) amr
wirar 21 99 98 e afoe 29 3 Rufa A gmar 21
a9 & AR ai¢ 39 five W 5 fRum =1 vome @
fear 91 @t 9de & SAR GG TR @ AT HAA
& for AR s 1 99 B

(1) 294N
) 39.2N
(3) 18.6N

@) 426N
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The string of a simple pendulum of length L and
massless. If the mass of the bob of the pendulum
is m, then for small oscillations its time period
would be (assume radius of bob r<<L)

L
T=2 L
) 4 3

(2m)L

39

() 2r
2L
o (a5

2L
on 1=
@ 2mf

Two identical spheres are placed in contanct with
each other. The force of gravitation between the
spheres will be proportional to (R = radius of each
sphere)

M R
@ R
3 R

(4) None of these

Two wires A and B of same length, same.drea of
cross-section having the same Youngs madulus
are heated to the same range of temperature. If
the coefficient of linear expansion of'Ais3/2 times
of that of wire B. The ratio of the rerces;produced
in two wires will be

(1) 23
2) o4
(3) 49
@) 312

A soap film of surface tension 3.102Nm™!

formed in rectangular frame, can support a straw.
The length of the film is 10 cm. Mass fo the straw
the film can support is

(1) 0.06gm
(2) 0.6gm
(3) 6gm

(4) 60gm

5.

6.

8.

e Aleieh i & Tl LS 8 99T MesgaH vy
2 g A9 1 799F m2 1 9 B A D e amEd
I BT (T 919 1 B3 re<L)

L
T=2 ff
(M . g

L

3g
2 \L
0 2 3m)s
2L
or ==
o

A T T 99 a1 R & @) e 1o o

BRI

MR

() 2r

‘@ R

@) T ¥ =L A8

T TS, T AT QT o1 G T A9
@ @ AR AT BUS ol 99 IR 9 9 fRd Wi
F1 3l AR AST T TR U 9~ BE W6 TR
AONEH T 3/2 AT S @ ATIT BARF A ITq—~ @l
T Y 1

(1) 23

2 94

(3) 4/9

@) 312

T AFAHR B I S A 9 e 61 s &
3x10-2Nm-" 21 TR gE Fhew 10 T o= D
I & Gl B 9@ & 6T S S

(1) 0.06 gm

(2) 0.6gm

(3) 6gm

(4) 60gm
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10.

1.

12.

A uniform thin metal rod is used as a bar
pendulum. If the room temperature rises by 10°C,
and the coefficient of linear expansion of the
metal of the rod is 2 19~¢ per °C, the period of

the pendulum will have percentage increase of
@ -1x1073

(3) 2x1073 4 1x1073

An ideal gas has an initial pressure of 3 pressure
units and an initial volume of 4 volume units. The
table gives the final pressure and volume of the
gas (in those same units) in four, processes. Which
processes start and end on the same isotherm

(1) —2x1073

M A (2) B

@ C @ D

A rod of 40 cm in length and temperature
difference of 80°C at its two ends. Another rod B
of length 60 cm and of temperature difference
90°C, Having the same area of cross-section. If
the rate of flow of heat is the same, then the ratio
of their thermal conductivities will be

(1) 3:4 @) 4:3

@) 1:2 @) 2:1

The period of a simple pendulum, whose bob is
a hollow metallic sphere, is T. The period is T,
when the bob is filled with sand, T, when it is
filled with mercury and T, when it is half filled
with mercury. Which of the following is true

Hollbow Sand

(1) T=T,=T,>T,
(@) T=T=T>T
(3) T>T>TAT,

@) T=T=T<T,

10.

1".

12.

TS TR Yool U1 9% @I U v Juged & &9 A
I faFar e 21 3R SR $T 919 10°C A 98 AT
? U9 Uy T W& TR PIF 2,106 per’Ca ot

Yuged & FrEdad A g gfe Rl
(1) —2x10°3 (2) —1x1073
(3 2x1078 4) 1x1073

Ueh A ol IR T 3 SIS U TRINTE JIETH 4
TS 21 IRl ¥ A9 A 9 afkasn & fore aifeawr
T U9 A 1Y 19 F 1 T 49 uitkar v € e
9% R Ryd 21

M A @ B

@ C “ D

40 I0. ol I3 AT R &1 A9 80°C I 60
M. o 21 Ul I3 B @ R &1 AR 90°C B
T BT R TR JIT Tl 9 71 afe I s
H o1 A Bl e IR S B, 9 981 & 92

F ST ArThal IO T I B
(1) 3:4 (2) 4:3
3) 1:2 @) 2:1

UF G dlieleh, I Mo T Uifcas Qe Mar 21
FEF AP T 21 o9 Mes F W9 98 2 a9
Fradhrd T, 2 99 98 Ihd 9 WU 2 99 AadE T,
® 99 98 IEHA & AT R 2 99 T AEdhd T,

21 99 e ¥ 3 98 Aoy 2

! T LB
and Mercary

Hollbw <

(1) T=T,=T,>T,
(2) T=T=T>T
(3) T>T>T,=T,

(4) T=T=T,<T,
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13.

14.

15.

An engine is moving on a circular track with a
constant speed. It is blowing a whistle of
frequency 500 Hz. The frequency received by an
observer standing stationary at the centre of the
track is

(1) 500 Hz
(2) More than 500 Hz
(3) Less than 500 hz

(4) More or less than 500 Hz depending on the actural
speed of the engine

In a parallel plate capacitor the separation
between the plates is 3 mm with air between them.
Now a 1mm thick layer of a material of dielectric
constant 2 is introduced between the plates due
to which the capacity increases. In order to bring
its capacity to the original value the separation
between the plates must be made

(1) 1.5mm
(2) 2.5mm
(3) 3.5mm

(4) 4.5mm

Figure shows a simple potentiometer circuit for
measuring a small e.m.f. produced by a
thermocouple. The meter wire PQ has a resistance
5 and the driver cell has an em.t. of 2 V. If a
balance point is obtained 0.600 m along PQ when
measuring an e.m.f. of 6.00 mV, what is the value
of resistance R

13.

14.

15.

v 3o Faa T 3 gl v W Ao 21 alk g9
BT TSI 500 Hz AP & waF I Far 21 A
o A feER AR 99 & S W G U Al &
R U argfea el

(1) 500 Hz
(2) 500 Hz® 3t
(3) 500 hz® =¥

(4) 500 Hz¥ 97 o1 41T <l fof 39 &l A =
R feR

T IR =i a1 R F) =il & 74 F g0 3
mmB| AT AR 1mmAE vF A 2 TN F
WA e <l & 99« & 91 @ aiRar 52
WA 21 gEal eRar & A9 H daq @ @
wiel & 99 &l T8 e shl

(1) 1.5mm
(2) 2.5mm
(3) 3.5mm

4) 4.5mm

g ¥ v a0 @G R SO I . a1 @ A
A & forg e vt At Reamar @ 21 e
dR PQ &1 YfoliY 50 WE SRR 3 WHs &1 4. 41
99 2VE 1 9 6.00 mVE L a1 a1 FY A9y W @
al PQS FIgiew wge v 0.600 m™R g BT 2,
JRRY RST 4 31

R
2V R
[+ AN TELADYN
= (J.600m =
p Q  —0.500m > "
Thermoco “ple(;\’ G Thermocouple~
6.00 mv 600 mV

(1) 995 o (1) 995 0
(2) 1995 o 2) 1995 ¢
(3) 2995 ¢ (3) 2995 0
(4) None of these (4) T & rE
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16.

17.

18.

19.

A battery of 24 cells, each of emf 1.5 V and internal
resistance 2 () is to be connected in order to send
the maximum current through a12 ¢ resistor. The
correct arrangement of cells will be

(1) 2rows of 12 cells connected in parallel
(2) 3 rows of 8 cells connected in parallel
(3) 4 rows of 6 cells connected in parallel

4) All of these

An electric kettle has two coils. When one of these
is switched on, the water in the kettle boils in 6
minutes. When the other coil is switched on, the
water boils in 3 minutes. If the two coils are
connected in series, the time taken to boil the
water in the kettle is

(1) 3 minutes
(2) 6 minutes
(3) 2 minutes

(4) 9 minutes

In the hydrogen atom, the electron is making
6.6 x101° r.p.s. If the radius of the orbit is

0.53 % 10~19 metre then magnetic field produced
at the centre of the orbit is

(1) 140Tesla
(2) 12.5Tesla
(3) 1.4tesla

(4) 0.14 Tesla

A compass needle whose magnetic moment is
60 amp x m? pointing geographical north at a
certain place, where the horizontal component
of earth’s magnetic field is 40 KL Whbim?

experiences a torque 1 2. 10N xm What is the
declination at this place

(1) 30°
2) 45°
3) 60°

@) 25°

16.

17.

18.

19.

AN A 2492, TRAF A w A aL s 15 o
sraRe g2 31 WIA A v 12 & =G
gfeer I Jiftrmaw o I FEN 2, 99 A9l 1 a9E
aqoT 21

(1) i & 9 12 9l arelt 2 wferar

) SR ¥ T3 8 ¥ el 3 Wikl

(3) AU A 2 6 A=A Aol 4 iRl

(4) ST o

v faga el ¥ < Husferl 31 v Huseht A A
FE T EISH F W g o 6 FFe A Iaear 2 @
T HUSA Tl A T A AS B S AT R
Iaaq A 3 FiFe =1 o o rar 21 3l 4 el
) il A Sheae v 9y A R 9l < o it
I & W= H SaA A 9 99 TR0

(1) 3 minutes
(2) 6 minutes
(3) 2 minutes

(4) 9 minutes

BIEEIo T ¥ ST 661075 Lp-s. WA A
wr 21 af e ) 391 531010 WX B @
FHEl B hvw W I TFEhIF & s

(1) 140Tesla
(2) 12.5Tesla
(3) 1.4tesla

(4) 0.14 Tesla

UF HF G T TR AT 60 amp x m? 2, T
ot 1 g et & silviiferss S it iR 21 Al
T A WY & T 89 F1 &fo 9eF 40
L Wh/m?2 vd g% & &R A fomar wrar a9 amreef
12x103Nxm & @ T ®F R RayE &1 Fvr
BhmI

(1) 30°
(2) 45°
(3) 60°

@) 25°
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20.

21,

22,

23.

The correct relation is:

(Where B, = Horizontal component of earth’s
magnetic field; B, = Vertical component of earth’s
magnetic field and B = Total intensity of earth’s
magnetic field)

B
M B=g

(2) B=By xBy

() |BI= B +B?

(4) B=By +By

The figure shows four wire loops, with edge
lengths of either L or 2L. All four loops will move
through a region of uniform magnetic field §

(directed out of the page) at the same constant
velocity. Rank the four loops according to the
maximum magnitude of the e.m.f. induced as
they move through the field, greatest first

acay

(1) (ec =eq)<(es =ep)
@ (ec=eqg)>(ea =)
(3) e;>eq>e,>e,

(4) e.<eq<e,<e,
A bulb and a capacitor are in series with an ac

source. On increasing frequency how will glow
of the bulb change

(1) The glow decreases
(2) the glow increase
(3) The glow remain the same

(4) The bulb quenches

The collector plate in an experiment on
photoelectric effect is kept vertically above the
emitter plate. Light source is put on and a
saturation photo current is recorded. An electric
field is switched on which has a vertically
downward direction

(1) The photo current willincrease
(2) The kinetic energy of the electrons will increase
(3) The stopping potential will decrease

(4) The threshold wavelength will increase

20.

21,

22.

23.

& 9y 2|

(3=t B, = y-graag &fast aear, B, = 7ot &Y o
TN Al 6 FEAER geh B = gl & i
EREIREER)

\'d

(1) B=g,

2) B=By xBy

(3) |B|= B3 +B%

4) B=By+By

o ¥ 9 aR ol < Reawr 1@ 2 et e’ 3
g Lar 2L 21 it IRl 99 vF 99 3T 3 o
R ARG A § FEI d T oEaq 96 Bl
AR A ud 21 99 A A AT A o § 99
TR 39 13 91 99 & IRATT B MR W SR FT
1 B

OCar

(1) (ec=eq)<(ea=¢p)
2 (ec = ed)>(ea =eb)
(3) ec>eq>ep>e,

4) ec<eg<e,<e;
v 959 ¢ T SR T acHia F Ao § 93
Y T ac Ui #I FERT TeH W 97 Y 99

(1) =
2 =
(3) fag &

(4) S<F g W

T FRa 199 & W4 3 S Wi B 3lE W
U GUEE e gi €1 @l 1 21 g gl
¥ T IR T, TR U Ale # Sl @1 <e)
& A FTATER 11 A 3R Tk a8 A far
o

(1) T faga umr Teit

(2) Tl Sl TSt il gl
(3) FRE v s

(4) e T T
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24,

25,

26.

27.

In a pure silicon (ng = 0% /m3) crystal at 300 K,

107" atoms of phosphorus are added per cubic
meter. The new hole concentration will be

(1) 107" perm? (2) 10 perm?
(3) 10" per m? (4) 10°perm?

Which is reverse biased diode

= ;3;‘4'£>+ l
(1) rD'—T (2) 4
1%
-10V
6 10v -5y

A lens when placed on a plane mirror then object
needle and its image coincide at 15 cm. The focal
length of the lens is

(1) 15¢cm (2) 30cm

(3) 20 cm

Following figure shows sources 8, and S, that
emits light of wavelength } in all directions. The
sources are exactly in phase and are separated
by a distance equal to 1.5, If we start at the

indicated start point and travel along path 1 and
2, the interference produce a maxima all along

@) oo

5: s ‘ /
HW Start
(e (] |

(1) Pathl

(2) Path2

(3) Any path

(4) None of these

24,

25,

26.

27.

& € Rt (ni =1015/m3) fFrea ¥ 300KR
FHIEHRE T 107 S I afoee Wiex 3 Rramr wr
21 74T S =T B
(1) 10*" perm? (2) 10" perm?

(3) 10" perm? (4) 105perm?

1 ¥ @ =ivar SoRd IRER EEE 2
- o—t
-20v

(1) [—06—] @) J

sV

=10V

o———[)** '_)_Dl,,,,

(3) 15v ‘ (4) 10v l
& 10v -5y

S U Jedel g ) REIER oo ke i & S
& oEr 2, 99 15 . g w o B agg w
YRl & Rt 21 Jd= 9w 9 2

(1) 15¢cm (2) 30cm

(3) 20cm {4) oo

o A gia s, va s,&%0 e 4 ), awedd
T Yo I & 21 3 99 la: 99 S ¥
2 v9 39 919 9 90 1.5, 21 9 = <R s
g A9 109 2 & Ry 9F df =AREHET | FRT
w39 Sheass = shm

R
s, p
Hmh- Start
[PR P—

(1) 97|

@) 99 2

(3) g o 9o

(@) T ¥ HE o T
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28.

29,

30.

31.

In given circuit calculate voltage across a-b

60V
T T
(1) 10V (2) 20V
@) 30V 4) 40V

The activity of one mg of an element is 1 5« 103

disintegration/s. The activity of one gm of the
same element will be-

(in disintegration/s)
M 1.2x10°
@ 1.2x10°
3) 1.2x10°

@ 12x10*

In addiation of two vectors A and B, resultant
vector is R . Which of the following is correct

(1) Re=A2+ B2+ 2PQ sin o
2 R=A+B
(3) a=p

(4) None

The solid angle (Q2) subtended by the intercepted
area of 1 cm? of spherical surface about center O
of radius 5 cm will be :

(1) 4 x 1078 steradian
(2) 2 x 1072 steradian
(3) 3 x 102 steradian
(4) 4 x 102 steradian

28.

29.

30.

31.

3 1 9fgy ¥ a-b | 97 v =i

60V —[a ?—L c
T T

(1) 10V

2) 20V
(3) 30V @) 40V

Uk O @ U el a@ @) afhgar 10108
fagest 74=ve 71 3 99 & o A gerd &)l
Bt - (foraest /4=vs %)

(1) 1.2x103
(2 1.2x10°
(3) 1.2x10°

@) 12x10*
o AFed A R B D At ¥ yRoEh dwex R 21
Fr=faRaa ¥ @ &9 a1 wyF 99 21

(1) Re=A2+ B2+ 2PQ sin

2) R=A+B
@) o=
(4) None

R 5 cm Brear 9l Wieil 998 @ e g¢ I &
&% 1 cm?sh g S O 9 AIRd ST SIvT (Q)

(1) 4 x 10°3ERfeT
(2) 2 x 102¥ T
(3) 3 x 102
(@) 4 x 102 TR
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32

33.

34.

35,

Match the entries of column | with column Il :

Activity Type of Motion

(a) Movement of the tip (i) Rotational motion
of the minute hand of a
clock

(b) A stone falling from a(ii) Circular motion
height in a straight line
path

(c) Moving wheel of a
sewing machine

(iii) Linear motion

(1) a—iii, b—i, c—ii
(2) aii, b—iii, c—i
(3) a—iii, b—ii, ci
(4) a—ii, b—i, c—iii

A particle is moving along a circular path with a
constant speed of 10ms™'. What is the magnitude
of the change in velocity of the particle, when it
moves through an angle of 60° around the centre
of the cirlce:

(1)Zero
(2) 10m/s

(3) 10v3m/s
(4) 1042m/s

In the reaction 2H+}H—— jHe+ )n if the

binding energies of iH,}H and j;He are
respectively a, b and ¢ (in MeV) then the energy
(in MeV) released in this reaction is:

(hc+a-b

(2)c—a-b

3)a+b+c

(4)a+b-c

Match the following spectral series with the
maximum wavelength of the series :

(R =Rydberg's constant)

Column-|l (Series) Column-ll (A __)

a. Lyman series i. 4009R

b. Balmer series ii. 144/7R

c. Paschen series iii. 36/5R

d. Brackett series iv. 43R

(1) a-ii, b-iii, c-iv, d-i (2) a-iii, b-iv, c-i, d-ii
(3) a-iv, b-iii, c-ii, d-i {(4) a-iv, bHiii, c-i, d-ii

32.

33.

34.

35.

e | 9 yfafeat =t s 113 @y ifera &

T afafafEr &1 gHR
(a)era u&r A Pee &t (i) goia i
g4 A A & i
(b) T el {ET ¥ (i) Iig A
Fas 4 AR aren 7R

(c) e weii & aifoslie (i) Wi ol
qfgar

(1) a—iii, b—i, c—il
(2) a—ii, b—iii, c—i
(3) aiii, b—ii, c-i
(4) aii, b—i, ciii

T ] Yo JeliHR 99 R 10m/s 9 FRag A 9«
@I 2 94 48 T I & Sew B IR 60° Iordr B at
@@ 31 ¥ g IRad =1 yRAror S

mT=a

(2) 10m/s

(3) 10v3m/s

(4) 10v2m/s

FRIRRAT 2H+ SH-— > He+ 'n & AR 2H,*H @
‘He &l 9= &9 9 a, b 3R ¢ (MeVH)2 ot
g Jtfkar 3 qaa Sl (Mev ) 2:

()c+a-b

(2)c-a-b

(3)a+b+c

4)a+b-c

TR avisi spEar =1 sjEer o st des
T a gifea &t

(R == fgaia )
R (L E) - ()
a. WA Y&l i. 400/9R
b. SRR sfEer ii. 144/7R
c. YRR @l iii. 36/5R
d. dwe s iv. 43R
(1) a-ii, beiii, c-iv, d-i  (2) a-iii, b-iv, ci, di
@) a-iv, biiii, c-ii, d-i  (4) a-iv, bHiii, c-i, di
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SECTION-B

This section will have 15 questions. Candidate can
choose to attempt any 10 questions out of these 15
questions. In case if candidate attempts more than
10 questions, first 10 attempted questions will be
considered for marking.

36.

37.

38.

39.

A length is measured as 2500 m by a meter scale.
Which of the following statement is correct :

(1) number of significant figure in given data is 2 only

(2) number of significant figure in given data is 2 and it

should be written as 2.5 km

(3) number of significant figure in given data is 4 but it

should be written as 2.500 x 10°m

(4) number of significant figure in given datais 4 at all

For atomic model of hydrogen atom given by Niels
Bohr, match the following proportionalities :

Column-| Column-Ii
a. Angular momentum . 1/n
b. Velocity of electron ii. n
¢. Radius of orbit iii. 1/n?
d. Energy of electron iv. n.

(1) a-i, b-ii, c-iii, d-iv
(2) a-iv, bHiii, ¢-ii, d-i
(3) a-iv, b-i, c-iii, d-ii
(4) a-iv, b-i, c-ii, d-iii

A child is standing with folded hands at the center
of a platform rotating about its central axis. The
kinetic energy of the system is K. The child now
stretches his arms so that moment of inertia of the
system doubles. The kinetic energy of the system
now is:

A small disc of radius 2 cm is cut from a disc of
radius 6 cm. If the distance between their centres
is 3.2 cm, what is the shift in the centre of mass of
the disc :

(1) 0.4cm
(3) 1.8cm

(2) 24cm
(4) 1.2¢cm

Hvs-B

70 G ¥ 1595 21 qdemeil =9 159 F 9 I of
1095 & ghar 21 afe gdamf 109 aftres vz <1
IR 24T ¢ 9t 7 6 ¢ TR 10 75 & W= 8

36.

37.

38.

39.

U R & WeX T & 3’1 2500 m AT SIET @
T ¥ S 91 FYA 99 B

(1) 73 T e ¥ 9rie i 9 G daa 2@

2 Ry T sme ¥ W S A dEm 22 IR W
2.5 km fermT @iz

@) R M oiE ¥ adew s A dour 4 W R
2.500 x 10% m feraem =nf2y|

(4) 7o T e ¥ I TR € 9T 31l I 9 4
£

o9 9et BRI ol Y SIEEeF O] & IR disd &

fere, feiad squmal &1 Rras &t
e -

a. wiviig 94T i. 1n

b. Felagi T 4T ii.

c. Hyl <l B ii. 1/n?

d. S @ SHell iv. n

(1) a-i, b-i, c-iii, d-iv

@) a-iv, b-iii, c-ii, d-i

(3) a-iv, b-i, ciii, d-ii

(@) a-iv, b-i, c-ii, d-iii

o wEH, A D g R IR o W @
ITHR & Pee W B ST @l 2 | Fem 9 alkwr
Sl K 21 9241 31 399 514 1 e 21 8, Rred

Frem =1 wieea st g & Wi 21 e & afawr
il B wRA:

(1) 2K
2) K/2
3) K4
@) 4K.

6390 Frear o 9ol 9 oo 230 R 46 9 B
WIHR Faed 2 5 S D o izl 3.2@ M’

T Ihdl I THAM s e
(1) 04cm (2) 24cm
(3) 1.8cm @) 1.2cm
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40. Assertion: Mean free path of a gas molecules
varies inversely as density of the gas.

Reason: Mean free path varies inversely as
pressure of the gas.

(1) If both assertion and reason are true and the reason
is the correct explanation of the assertion

If both assertion and reascn are true but reason is
not the correct explanation of the assertion

2

(3) If assertion is true but reason is false

(4) It the assertion and reason both are false

41. Volume-temperature graph at atmospheric
pressure for monoatomic gas (Vin m3, T in °C) is:

v \4
(1) @ /
' TCC) ' TCC)
V V F 3
3) @
TCC) o)

42. Determine the electric dipole moment of the
system of three charges, placed on the vertices of
an equilateral triangle, as shown in the figure:

g 1 x

(1) (al) 72

i
42
(3) /3 ql]

(2) V3l

4)2ql]

40. R 39 OIS T AT AT 9, IgD T B
R % IR IRafda 2ar 21

FHRUT A T 9, 1 B T D HohA & AR
qRafdd elar 21

(1) af¢ TFFYT 3R FROT I 961 7 3T FROT YR
T e T 7 2

(2) 9 TFHUT SR FROT I @6 2 fehe ROT gaeRue
o FEI TLIHT FE] el 2

(3) afe g wEl ® foheg ROT I 2
(4) afE TP 3T FROT TF 9 B

4. TF TPV < R 5 v vee A & e
AGAT (V) G a9 (T)TH 2 (V-m*A gg T-oCcH 2:

VJ/ VA

Q) ¥
TPC) ™

>
L

T(C)

3) @)
T(C)

»

TG

42. o= ¥ A A 9 s S ow wEg P & Rl
R 2, & fm o Rga faya st 3 Fifoe:

it

(1) (@ NG

b
(2) ¥3ql 7

(3) -3 ql ]

4)2ql]
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43.

45.

46.

The given graph shows variation (with distance r
from centre) of:

o r

(1) Potential of a uniformly charged sphere

(2) Potential of a uniformly charged spherical shell
(3) Electric field of uniformly charged spherical shell
(4) Electric field of uniformly charged sphere

In an electric field force on different test charge

varies as shown in graph. The magnitude of
electric field is:

IFI()
2
90
1
(fy e @ \an/C
(3) Zero 4 1N/C

The condition under which a microwave oven
heats up a food item containing water molecules

most efficiently is:

(1) The frequency of the microwaves has no relation
with natural frequency of water molecules

(2) microwaves are heat waves so always produce
heating

(3) infra-red waves produce heating in a microwave oven

(4) the frequency of the mivcrowaves must match the
resoltant frequency of the water molecules.

A tank 5 m high is half filled with water and then
is filled to the top with oil of density 0.85 g/cm?,
The pressure at the bottom of the tank, due to
these liquids is

(1) 1.85g/cm?

(2) 89.25g/icm?

(3) 462.5g/cm?

(4) 500 g/cm?

43.

44,

45.

46.

far mar wd (@ ¥ 3Q r B G TEaE Ramr 2

(1) T 99 FEEE et 57 fone

(2) T 9 FRRE el e w fava
(3) T WM FARRE el Hr 1 R o
(4) v 99F SRTEE e F1 fRE o

T FRW W A I BT WE & JER 2 deE@
& =T 9T B

[FI{N)
.
40
1
) FN/C (@ V3n/c
@) TH (4) 1N/C

frafoaRaa ¥ @ e <o A et gmiRa (gewraar)

JlaT Fl el AY[ A ST Gerdt i 0 F e

LR

(1) & TN Argehiaa S JMGRT T & S A FFAS
Fgfed & &g 2l 2

(2) GEH T Fo Y TG E I AT T I FAR|

(3) TIEHIAT AT F AT T Iea=T e &

(4) e T AhIA BT Y A o S AT AL
Safed & &gW B B

5 Hlet 3 ¢ cal I 9FT 4 9l @ e 9w
e A" (ST 0.85 giem?) A o ?1 T wEl &
THRT Tl F Tell 9 T BN

(1) 1.85g/cm?

(2) 89.25g/cm?
(3) 462.5g/cm?

(4) 500g/icm?
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47.

48,

49,

50.

Graph between volume and temperature for a gas
is shown in figure. If o = volume coefficient of

gas = °C, then what is the volume of gas

ﬁ per
at a temperature of 819°C

Vilitre)

1
0.75 /
0.5

0.25

(1 1x107° m®
@ 2x1072% md
(3) 3x10° m?

@ 1x107° m’

An engine approaches a hill with a constant
speed. When it is at a distance of 0.9 km it blows
a whistle, whose echo is heard by the driver after
5 sec. If speed of sound in air is 330 m/s, the speed
of engine is

A | "

(1) 10 m/s (2) 20 m/s

3) 30m/s 4) 40 m/s

How much work does a pulling force of 40 N do
on the 20 kg box in pulling it 8 m across the floor
at a constant speed. The pulling force is directed
at 60° above the horizontal

(1) 160J ) 277J

(3) 784J (4) None of the above

The mean radius of the earth’s orbit round the
sunis 1 5% 10''m. The mean radius of the orbit of

mercury round the sun is g 19'%m. The mercury
will rotate around the sun in.

(1) Ayear
(2) Nearly 4 years
(3) Nearly 1/4 year

(4) 2.5 yeasrs

47.

48.

49,

50.

ek 39 & AGGE E 99§ 99 1% i R W e

7 21 3% A T ST TR IOl a:=%‘!ﬁf

°CEl, 99 819°C 9 4 T g BHMI

Vilitre) ¢

1
0.75 /
0.5

0.25

> t°C

(1) 1x1073 m3
@ 2x103 m?
(3) 3x103m?

4 1x10° md

v 3o e e ¥ Rl 9erE & v aifae @
Tt ¥ 0.9 km F & W 39 9T Tormar 2 s
yRal grat &t 5 d9ve ywEE g A 21 AR
ag ¥ eafy 9 91 300 m/s 2, I g9 S T 2Rt

,
] \A.

H ,'v‘ “\‘\.-"‘-
mbd iy
(1) 10mfs 2) 20 m/s
(3) 30m/s (4) 40 mfs

40 =2 T & FE99 99 20 R & o Al W/
T ], S 39 ¢ R 63 W IR 9@ A 8 fiex
rd [Hprkg®&;f;gcy {Bt |s60° & &V &

9T Bt, 99 39 21 fehar wEr s Bl
(1) 160J () 2774
(3) 784J @) ST ¥ A TS T2

el &) g4 & AR AR IREAT e Al Area FHsar
1.5x10"1m, MeX 31 T 1 g4 = aR AR IRFH0T
=& A A B 6y1010m, WX B quE w
TR A |

(1) THag &
(2) TR WX a9 H
(3) TRFT /49§ ¥
4 259 %
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TOPIC : FULLSYLLABUS (MODEL)

Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mig=24, P=31, S=32, C|=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, 1=127, Ba=137, Au=197

SECTION-A

|Us-A

Attempt All 35 Questions

of 3593 AfEr 21

51.

52.

53.

55.

What is the two dimensional coordination
number of a molecule in square close-packed
layer:

(1) 2
(2) 4
3) 8
(4) 6

Calculcate molaity of 2.5 of ethanoic acid
(CH,COOH) in 75g fo benzene:

(1) 0.556 molkg™
(2) 0.00556 molkg™
(3) 0.0556 molkg™
(4) 5.556 molkg™

Which of the following solution does not show
positive deviation from Racult’s law:

(1) Ethanol + acetone
(2) CS,+acetone

(3) CHCIl +Acetone
(4) Allof these

Conductivity and molar conductivity increase
with:

(1) Decrease in dilution & increase in dilution
respectively

(2) Increase in dilution & increae in cone.
(3) Increase in concentration & decrease in dilution
(4) None of the above

Which of the following statements is not true for
molecularity of a reaction:

(1) Itis an experimental quantity
(2) It can’t be zero
(3) Only applicable for elementary reactions

(4) None of the above

51.

52.

53.

54,

55.

TSR FAlST -9 Wa & v 3 2 -mah g9=g
& 1 2

(1 2
2) 4
(3) 8
(4) 6

75 UM 4519 & 2.5 CAiHiSE ofeE @) Aidferdt &t
ﬂ“ﬂiﬁ:

(1) 0.556 molkg™
(2) 0.00556 molkg™
(3) 0.0556 molkg™
(4) 5.556 molkg™

Frafaiaa ¥ ¥ =9 9 s9rE 93w g 9 s
Forae s =18 REmar 21

(1) 3 + Gl

(2) CS,+wéicH

(3) CHCI+T8H

(4) &

Al AR AT AraHar ¥ i B 2

(1) TIHET F FA FR TIFT g B 2
(2) T ¥ 3fe ST W ¥ gfE

(3) TR ¥ g 3R AR

(@) 1S o e

FfeRaa A A S a1 sy aRfFar 9 svifasar &
fore a8t 1Er 21

(1) T% v YR A 2

(2) g5 I 8 B gl

(3) Faa gl wfafearst & forg Ry
(4) T ¥ TS 8
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56.

57.

58.

Given below are two statements :
Statement |I:

p-hydroxybenzoic acid has lower boiling point
than o-hydroxybenzoic acid.

Statement Il :

o-Hydroxybenzoic acid has intermolecular
hydrogen bonding.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement |l are incorrect
(2) Statementlis correct but Statement Il is incorrect
(3) Statement|is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

Cu+ I(-Idl';ll())g — a+Cu(NO,), + H,0

3)2

HNO,
Zn+ (dil) — b"‘ZI'I(NO:,')2 + H20

Here a and b are:

(1) N,O,NO

(2) NON,O

(3) NO,NO

(4) NONO,

Given below are two statements :
Statement I:

pH of 10" M HCl is less than 7 at 25°C.

Statement |l :

At very low concentration of HCI, contribution of
H* from water is considered.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement |l are incorrect
(2) Statementlis correct but Statement Il is incorrect
(3) Statementl isincorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

56.

57.

58.

A ARy g S
YA |

pETESRANIISH 3 Bl FIHHIH o-BIEEIHI~viIEH
I+ A 9 Bl 21

Y Il :

oIS Aslgeh 3 e A FHaq e sEgeA 9
BT 21

IRaT YAl @ g2 ¥ = oy ¢ e ¥ @
Al ITE 3R AT 997 o

(1) T | IR F97 11 4 T T

(2) FUF 19 & AR &9 11 7T 1

(3) FUF |71 B AR o 19T B

@) FIT | 3R F9T 1| A 98§
Cu+ :'dl}'l?’ — a+Cu(NO,),+H,0

HNO
ZI'I + (dll) 3 — b+Zn(N03)2 + H20
&1 'a’' i b 74T 2
(1) N,O,NO
(2) NON,O
(3) NO,,NO
(4) NO,NO,
A s ReICE
YA I
25°C 919 T 10" M HCI =T pH A 4 =9 ST 21
&Y Il :

HCI 3 1% &9 FFsdl I¢, 5ol & H* T 3R ferar siar
4

IRF w3 P o ¥ - Re 1w Reen ¥ 3
Hailre STYF IO T 99 Hifa ;

(1) T4 | 3R F9 |1 A4 T 2

(2) T 198 & AR T 1T 2

(3) FU 1717 2 e Fu 1% B

(4) FAT | 3R F 1 A wE F
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59.

60.

61.

62.

Max.no. of gram molecules are present in:

(1) 4.4gofCO,

(2) 36gofHO

(3) 0.098g0fH,SO,

(4) All have same no. of gram molecules

Given below are two statements :

Statement |:

Acetate ion is more basic than methoxide ion.
Statement Il :

Methoxide ion is resonance stabilised.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement |l are incorrect
(2) Statementlis correct but Statement Il is incorrect
(3) Statementlis incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct.

Which one is incorrect statement out of the
following :

(1) t, and eq levels are equal energy in the octahedral
complexes

(2) t,, levels has lower energy than eg level in
octahedral complexes.

(3) t,, levels has higher energy than eg level in
tetrahedral coplexes.

(4) All of these.

Which compound undergoes substitution reaction
slower than benzene:

OH

59.

60.

61.

62.

APT AVA T AeFaT g1 et Al 2:

(1) 4.43M of CO,

(2) 36URTof H,0

(3) 0.098 TR of H,SO,

@) & % v A

AR AdFFRewE:

YA L

BHide AET N SREHAT IS AT § 41T 2
YA Il :

AT A A AR fier B 21
Idad F D gf A AR Ry v fawet & @
FaF ITYFT I HT 99 FToIT :

(1) 5 | 3K U 1| 29 T 2

(2) FU 1981 2 AfFT T 11 7e 7

(3) I 1715 B AP I 1S 7

(4) FUT | AR F 1| S 98

Pt & @ Si-91 F9e W99 2

(1) TEAHT Akt AR ¥ t, TR H Foll eg T
& SO EA 2

(2) STTEHEI Gehel AN A t, WA Fll eg TR
1 3ren e SR R

(3) T F A F 1, TR A I eg TR
&1 Jen 3= el 21

(4) IRFT TN

il o e A hivrr i Ao At S
iy d &ear 2

OH
M
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63.

64.

65.

66.

Match Column-l with Column-ll and select the
correct answer :

Column-I Column-li
A. LCI, i. All atoms are sp®
hybridisation.
B. SiC ii. have non planar
structure
C. AL(CH), iii. have 3c—e bonds.
D. 5,0, iv. have 3c-2e bonds

(1) A-i, B-ii, C-iii, D-iv

(2) A-iii, B-i, C-iv, D-ii

(3) A-ii, B-i, CHiii, D-iv

(4) A-iv, BHiii, C-ii, D-i

Shape of SF, molecule is:

(1) Trigonal

(2) Square pyramidal

(3) Tetrahedral

(4) Octahedral

Correct order of acidic strength of following is :
(1) HF > HBr > HCI > HI

(2) HF <HCI < HBr < HI

(3) HF > HCI> HBr > HlI

(4) HCl < HBr < HF < HI

Given below are two statements :

Statement I:

A catalyst does not influence the value of K_ .
Statement Il :

Catalyst influence the rate of both forward and
backward reaction.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statementlis correct but Statement Il is incorrect
(3) Statementlis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

63.

64.

65.

Fiew- ) Faall F a9 Gifea AR i ad
e =1 =97 Fifoe .

-l Hrad-ll
A. LCI, i. @ T T AT
sp®
B. SiC ii. AT G 8
C. AL(CH,), iii. T 3c—~de T 21
D. S,0, iv. T8 3c-2e Y 2|

(1) A-i, B-ii, C-iii, D-iv
(2) Avii, B-i, C-iv, D-i

(3) A-ii, B-i, C-iii, D-iv

(4) A-iv, B-iii, C-ii, D-i
SF, A 1 JrRf S 2
OREEDLE

(2) =91 T

(3) FgHAH

(4) FEHHE

AT T FEY HF S
(1) HF > HBr > HCI > HI
(2) HF < HCI < HBr < HI
(3) HF > HCI > HBr > HI
(4) HCl < HBr < HF <HI

66. A A FyT Ry g 2 :

Y9 I

Il Tondl i aififhar & K, vl =8
T 2

<Y Ul :

I 6l walhe affear & a9 s skt 9w
abifraran = wefad s@r 21

IRt ayE @ wof A R Ry 1w et ¥ @
i ITgFd IR & 994 e

(1) T4 | 3K F9 || A T B

2) FUF 19& & AR 9 11 7T €1

(3) T |7 € T e 198 B

(4) 2 | 3R A || 3 w8
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67.

68.

69.

70.

7.

Electronic configuration of which transition metal
shows the highest magnetic moment:

(1) 3d°
(2) 3d°
(3) 3
(4) 3d°

Which of the following compounds does not show
geometrical isomerism:

(1) BrCH=CHBr
(2) BrCH=CHCI

I|3r
®) cHec=cHBr

@ GH-c=cHeH,

The correct IUPAC name of [ptCL(NH,) ]Br, is:
(1) Tetra-ammine dichloroplatinum (iv) Bromide

(2) Dichlorotetra-ammine platinum (iv) Bromide

(3) Dichloro-bromotetra-ammine platinum (iv) Bromide
(4) Dichlordetra-ammine platinum (Il) bromide
Choose the correct statement :

a. Structure of XeO, is pyramidal

b. Xenon does not form fluorides such as XeF,
XeF, or XeF,.

¢. AICI; does not give fumes with moist air.
(1) aandc

(2) a,bandc

(3) aand b

(4) None of these

Which of the follwing cell give a positive Tollen’s
test:

67.

68.

69.

70.

71.

Frfefaa ¥ 9 Sl -ur serag - arar g
g A At grasE et geiia war 21

(1) 3¢t
(2) 3
(3) 3d"
(4) 3¢°

= A 3 =i a1 Al st Sregaar vl S
&l B

(1) BrCH=CHBr

(2) BrCH=CHCI
Il_%r

@) chsc=CHer
i

) ch-c=cHeH,

[PtCL(NH,),1Br, 3T &&t S g f.edl. A 2:

(1) 3TT-TEA SEFARIRT  (iv) RS
(2) TR -TAEA AT (iv) IS
(3) STEFAT-FASET (iv)SFTEs
(4) SN OELES
&l FYA @ :

a. XeO, 3wt fufidig 2

b. SHFIFT XeF, XeF, 34T XeF ;halluge &l -Gl
2

c. AICI,, 9 9 & A 3T 81 95 3
(1) adiRc

2) a, b3 ¢

(3) a3k b

(4) TS 7

T % 4 S eI T AT 29

(3) CH,CH,—C—H

0 O

NLI/20



72,

73.

74.

75.

76.

Which one is correct about structure of
orthophosphoric acid:

(1) There are three H-P bonds
(2) There are three O=P bonds
(3) There are three HO-P bonds
(4) None of the above

The correct order of electron affinity of F, Cl, Br, |
is:

(1) F>Cl>Br>|
(2) F<Cl=Br=>1|
(3) Cl>F<Br>|
4) Cl>F>Br=>I
Given below are two statements :

Statement I:

H,PO, is a dibasic acid and shows reducing
character.

Statement Il :

H,PO, contain two OH- groups and one hydrogen
atom directly attached to P-atom.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement |l are incorrect
(2) Statementlis correct but Statement Il is incorrect
(3) Statementlis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

1
According to boyle's law P = KV where K is
proportionality constant incorrect statement is :
(1) BT,>T, thenK, >K,

(2) Kvalue depend onamount of gas and unit in which
P and V are expressed.

(3) Boyle's law will be applied to gaseous state under
normal conditions of temperature and pressure.

(4) Boyle's law graph is also called isotherm.
Phenol have ............ acidic strength than alchols:
(1) lesser

(2) Greater

(3) Same

(4) None of these

72.

73.

IrATEERRE S ) ¥ & ar & S -491 v
8 T

(1) 399 99 H-Ps=u 2

(2) T8 9 O=PT= 2|

(3) T dIF HO-P == 2|

(4) ST ¥ & g T8

F, Cl, Br, TT |5t TAFCIT T8aT HT G8I & 2
(1) F>Cl>Br>|

(2) F<Cl>Br>1|

(3) Cl>F<Br>|

4) Cl>F>Br>|

74. R A FYTRTICE :

75.

76.

YA I

H,PO_feenlia /e 2 oo e weffa wvean 21
YA Ul :

H,PO, ¥ 2 OH-TY 3R T BISgeA Ty e
HERRE ¥ 2 B 21

IRtad H¥ @ wof A AR Ry 1w et ¥ @
AR U I 1 999 AR

(1) T | 3R FF 1l A T E

2) FU |9 2 A FUT 11T B

(3) FUT |17 & AT e 1EE 2

@) FY | 3R T 1 I 9 2

THd S T @ FER P=K%,GIBT'K'H‘II':[CH’&T
i € & FoIg Ted w9 2 ¢
(afe 7,>T,2a K > K2

(2) KT 9 39 1 @ o P 3R VAT 3 i
FT 2

(3) T T T TR A 9 99 R T sraer § AR
forar T 21

(4) ST T T AF W S TR S 2
f;l_n—rﬁt-l%i FAT AT ........... BIT 2 CEHNEE AT AT

(1) =4

(2) 3iferR

@) &

(4) 9 & 18 7EI
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77.

78.

79.

80.

81.

Specific conductivity is represented by the
formula:

(1 c=1R

L 1
K=—x—
(2) ACR

Unit of vander wals constant ‘a’ is:
(1) Litrmol™

(2) Atm litre mol2

(3) Litre-atm K-'mol

(4) Atm litremol=

For expansion of an ideal gas at constant
temperature the entropy change is:

_ v, _ T,
(1) AS—R"‘]V‘i (2) AS—-C\‘,""IV1
T AH
AS=C_In-2 -
@ AS=C,nit (g as-

When a crystal site is rendered vacant by removal
of an anion and cation in the lattice, the defect
produced is k/a:

(1) Frenkeldefect
(2) Impurity defect
(3) schottky defect
(4) Frankland defect

For chemical reaction 3X(g) + Y(g) = X,Y(g). The
amount of XY at equilibrium is affected by :

(1) Temperature and pressure
(2) Temperature only
(3) Pressure only

(4) Temperature, Pressure and catalyst

77.

78.

79.

80.

81.

fafire s = e a3 g wefifa Rear siar 2:

(1 C=1/R

L 1
K=—x—
@) ACR

1.1
A=—x—xV
3) —REH

1000
Cc

A FERF 2 3 TS Bl 2
(1) e

(2) STgFEeT ST A2

(3) FRRfcTA- A"

(4) AASTHACT et 2

gﬁﬂ%ﬂmmﬁmqﬁaﬁwm

xK

@) n=

_ Vs _ T,
(1) AS—R|n7 ) AS—CV|nV

1 1
T, AH
AS=C, In-2 _an
(3) v; 4) AS T

W ¢ fohted 91ge Sl 9 U WY U9 U
A geTahR 39 Rad &2 2 oiar 2, 99 39 99R
I I H Fed B

(1) ®itwa 29
(2) SR 3
(3) FeET A

(4) HehelE AT

FFfRAT 3X(9) + Y(g) = X,Y(0) ¥ Iram=e ¥ XY
LK e Rk ECRAT

(1) A9EF 3K =E &

(2) Had AN A

(3) FEATT ¥

(4) A, TE 3R IAEF |
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82. Afirstorder reaction has arate constant1.15x10~ | 82, oy silfe sifSifekar =1 31 e 1.15%10°s'21 59
s™'. How long will 5 g of this reactant take to ARIHIEE T et 3 gBIN A RRaeT 99 w3 ;
reduceto3g: )
(1) 444 s (1) 4445
(2) 795 s (2) 795s
(3) 200 s (3) 200s
(4) 1000s (4) 1000's

83.  Mn (z=25) has the outer elecronic configuration: | 83, il (z=25) %T 9T&T IS = 2
o [¢] [Nt ]r]*]1] o [1] R[AAA 1]

@ [ [P [A]]1] o W] P[Pt 1]
® [0 [VI* [V ]P]V] o N L[V [V]
@ [ ] ININ[A A1 @ [ ] [NN[A]1]1]

84. Spin magnetic moment of X" (Z=26) is 84, X (Z=26) T TET W anq:fi J2a BMZ Tt
24 BM hence number of unpaired electron and T ST R n Y e ;T A
value of n respectively are :

(1) 4,2
(1) 4,2

@ 2,4
(2) 2,4
@) 3.1 3) 3, 1
@ 0,2 ahk

85. Conductivity measurement has shownthat in the | 85. Iehdl YT -0 Teiid ﬁ‘_"" Rkl 2 & dq
complex [Co(NH,)CI]CL,, the total number of ions [Co(NH,)CIICL,, ¥ i JE-T = 9% 3:
is: () 1
1) 1
(1) @ 2
2 2 3 3
3) 3 @)

@) 4 4) 4
SECTION-B |s-B
This section will have 15 questions. Candidate can . Sttt ¥
choose to attempt any 10 questions out of these 15 S 159 31 w116 RRRLR
questions. In case if candidate attempts more than 1095 T IFhdr 21 gk 9fanst 103 3ifs g= +1
10 questions, first 10 attempted questions will be .
considered for marking_ Il a_T" é Eﬁ B m E’{ Ty 109’5[ _551' 1 a—hl
86. Which compund has 10 r electron in it: 86. fra dlfi I 10 g a1 &
(1) Pyrol ORIEES
(2) Furan (2) ¥
(3) Thiophene (3) TAET
(4) Naphthalene (4) A=l
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87.

88.

89.

90.

In the following reaction:

CO+H, —CO+H,0(9)
9 (9 ()

What is the relation b/w Kp, K. (RT)

(1) Kp.KC=(RT)2

(2) K,/K.=(RT)

(3) K=K,

(4) K K =RT

Which of the following gives fastest SN? reaction:
(1) CH~CH~I (2) CH,=CH-I

(3) (CH,),CH-I 4) (CH,),CI

Match the Column-I and Column-ll according to

their given properties with their electronic
configuration.

Column-l Column-ll

A 18 i. Elementshows highest
negative oxidation

state.

B. 1s? 2s? 2ps ii. Elementshows highest

P,

C. 1s?,2s% 2p® 3s% 3p® iii. Elementshows highest
electronegativity

Element shows max.
electron gain enthalpy.

D. 1s? 2s? 2p? iv.

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-iii, C-iv, D-i
(3) A-iii, B-i, C-ii, D-iv
(4) A-ii, B-iv, C-i, D-iii
Given below are two statements :

Statement I:

Addition of HCI(aq, to HCOOH
ionisation of HCOOH(aq

Statement Il :

po— decrease the

T

Due to common ion effect of H*, ionisation of
HCOOH decreases.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement|is correct but Statement Il is incorrect

(3) Statementlis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

87.

88.

89.

e iR R far Fifi:

CO,+H, —CO+H,0(g)

(@ (9) @)

F 2 & T 2/ 9 R (K ) 3R Aer
dn (K) ¥ e 2

(1) K K =(RTy

() K /K =(RT)

(3) K=K,
(4) K K =RT

SN2 AT & e & =i = i T 0
(1) CH,—CH-1 (2) CH,=CH-|

(3) (CH,),CH—| (4) (CH,)CI

goagiFeE A= 9 39 01 & SR W FHiaw-1 6
FiH-I1 P A GiAfera Ffre
-1 Fier -l
A. 18 i. dcd Joaad WU
FlrIeRoT e Yeidia
& 21
ii. I I=adH TN ATEH
fera wefifa =vear 21
C. 1s%,2s2%,2pf 384, 3p° iii. Ocd J=da¥ fae[d
YTl Yeiiid &r
21

iv. T Jiferaw FAagA
gﬁl@?ﬂﬁﬁ‘iﬂm
|

B. 1s? 2s? 2p°

D. 1s? 2s? 2p?

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-iii, C-iv, D-i
(3) A-iii, B-i, C-ii, D-iv
(4) A-ii, B-iv, C-i, D-iii

90. MR A FRT IS :

G
ST HCI Y STeltd HCOOH, ¥ Frar 1 el

HCOOH,, T A= | ST 8 |
T N

H*S 99 3 TN & HRYT HCOOH T 3I-H Hedl
2l

IWH ol @ dof ¥ A Re 7w fFwen’ ¥ @
HaiTeS ITYF IR HT TG FlloIT :

(1) T4 | 3R F94 11 41 T B

(2) T 198 & Al T 1179 B

(3) T |7 ® fehd U 19 =

(@) FIT | 3R F9T 1| A 98 §)
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91.

92,

93.

94.

95.

96.

Natural rubber is a polymer of:
(1) Isoprene

(2) Propene

(3) HCHO

(4) Phenol

Molarity of solution containing 4 g NaOH in 4.5
dm? solution.

(1) 0.022

(2) 0.22

(3) 0.278

(4) 278

In Reaction
N,+3H, —— 2NH,
AH will be equal to:
(1) AE+2RT

(2) AE—2RT

(3) AE+RT

4) AE-RT

In the nitration of benzene with a mixture of conc.
HNO, and conc. H,8O,, the active species
inmoulved is:

(1) NO;

(2) NO,

(3) NO,"

4) NO,

Which of the following is true statement :
(1) IClis more reactive than |,

(2) OF, is used to removing plutonium as PuF from
spent nuclear fuel.

(3) CIF, is used for the enrichment of U** from its
isotopic mixture.

(4) All of these

Zeta potential is related to which property of
colloids :

(1) Colour
(2) Tyndall effect

(3) Charge on surface of colloidal particles

(4) Brownion movement

91.

92.

93.

94,

95.

96.

THF Ws TgaT 2

(1) FrEEdE &

(2) IR FT

(3) FACSEIES I

(4) TormTe =T

g2 4 g NaOH F8F 4.5 dm* e o Ialwa &t @t
e =it Aiterar =41 B8R

(1) 0.022

2) 0.22

(3) 0.278

(4) 278

S RIED |

N,+3H, —— 2NH,

AH SR B

(1) AE+2RT

(2) AE-2RT

(3) AE+RT

4) AE-RT

W Al T AEEOT 9% HNO, 3iRa H,S0,,
@ firsaor & 0Er wan 2, i afehg I
(1) NO;-

(2) NO,

(3) NO,

(4) NO,-

frfaiad & @ 9 -91 o= 2o gl & ol
qq 2 :

(1) IC1, 1, arer siffokardier 2

(2) OF , 3T FEHIA JART BT AMEI 3¢ ¥ wiei-as
1 PUF, & &1 % BcH & fore famar omar 2

(3) TG & T FsIor & U2Seh! St e &
fae CIF, %7 w3 faar < 2 |

(4) SR T+

Wier fava wiegsa & fFe ord =g 2
RS

@) R

(3) FIATESH FU F A8 H AT |

(4) &g afa |
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97.

98.

99,

100.

When the pH of the rain drops below , it
is called acid rain:

(1) 6
(2) 7
(3) 8
(4) 5.6

No. of stereocentre present in linear and cyclic
structure of glucose are respectively :

(1) 4,5
(2) 4,4
(3) 5,4
4) 55

Water soluble vitanims must be supplied regularly
in diet except ;

(1) VitB,,
(2) VitA

(3) Vit B,
(4) Vit B,

The first successful and effective antibacterial
agent prepared in 1932 is:

(1) Penicillin
(2) Protonsil
(3) Tetracydine

(4) Salvarsan

97.

98.

99.

100.

ELEL IR R ¥ i = oiar @ @ 99
FFIT a9 e 2

(18
@7
(3) 8
4) 5.6

& & W A g 9@ § iA@Y
&A1 I B

(1) 4,5
(2) 4,4
(3) 5.4
(4) 5,5

9t ¥ geeEie faeer & syl Fafa w1 9 ser
¥ =i e =nfee faw &

(1) ¥ B,
) ffm A
(3) faaF B,
(4) faci# B,

1932 JaR foRar 1T vEw I SR WY Siart
wie 2

(1) dfAfafer
(2) demfas
(3) geTETEiR
(4) deTaTE=
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TOPIC : FULLSYLLABUS (MODEL)

PART-1(SECTION-A)

Attempt All 35 Questions

101. Statement -I- Genus comprises a group of related
family.

Statement-llI-Order comprises a group of related
class.

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

102. Statement -I- Fungi are cosmopolitan and occur

in air, water, soil and on animals and plants.

Statement-llI-With the exception of Mucor which
are unicellular, fungi are filamentous.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct
(4) Both Statement | and Statement |l are correct

103. Statement -I- Disease can be broadly grouped into

infectious and non infectious.

Statement-ll-Among Infectious disease cancer is
the major cause of death.

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct
(4) Both Statement | and Statement |l are correct

104. Statement -l- Sericulture is the maintenance of

hives of honeybees for the production of honey.

Statement-lI-Some of the marine fishes that are
eaten include - Hilsa, Sardiness, Mackerel and
Pomefrets.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement |l are correct

HAT-1 (EUE-A)
359 a2
101. U -I- 99 A TEfud Rl 1 oF 9 a2

Y1131 ¥ SR T FT UF T AT @
(1) T 131 &9 11 3 8 &
(2) T3 19 & A 1 39 2
(3) FYT | 39T B wfehd w119y &

@) FY | 3R FuF || A I 2

102. FY -I- s [Azaeand 2 A =41, 5, Fied F oo
=g ¢9 vl W9 W 2

FYA-IIhaArE a2 AR T Sl v Al
2| T9H AYEIE 21

(1) T2 13 9 1| o 38 2
(2) FU 199 T T T 1l 3T 2
(3) FF 139 B AT T 19T
@) FU | 3R Fu |l 3 I 2
103. F9T -1- M FT A AR R IFFIE AR JIHFIR FET
A arer T ekl B
FAT-IFHFH TN A D0 Y T I FROT 2 |
(1) F5 131K 3 1| < 3 B
(2) FUF 199 & Ak F9 1l 3199 &
(3) FY 1 3 & A o9 190 &
@) FY 13K FUF 1l 3 T B

104. T -1- 3qFeR I5T B I & g el &
Sl 1 @ BT 2

Y-l S wshwl SR - e, eéne, dae
3 Irhed B 21

(1) F9 13K 97 1| A 39T B

(2) FUT 199 ¢ A F9 || 3199 2

(3) FU | 39A ® A o 1199 2

(4) FI 131K F9 1| I F B
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105. Statement -I- Forest, grassland and desert are

some examples of terrestrial ecosystem

Statement-lI-Pond, lake, wetland, river are some

examples of Aquatic ecosystem.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

106. Statement -I- The western ghat have a greater
amphibian species diversity than the Eastern

ghats.

Statement-ll-In our biosphere immense diversity
exists not only at the species level but at all level
of biological organisation ranging from macromol-
ecules within cells to biomes.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

107. Which one of the following is the correct match:

(1) Polyblend - Recycled modified

plastic

(2) Bitumenand -
polyblend

Used in lay roads

Ramesh Chandra
Dagar

(3) Haryana Kisan -
welfare
4) All

108. Statement -I- Population grow through births and

immigration and decline through deaths and
emigration.

Statement-ll-In nature population of different spe-
cies in a habitat do not live in isolation but inter-
act in many ways.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

105. Y -I- ST, HE B A T4 o0 e {[S Wl
R & I 21

HYF-I1-F, IE, <deel 85, Afedr sy nia= &
JeTeTT 71

(1) F9F 1 3R & 1| 3F 39 2
(2) FUF 199 € A Fo || 39 &
(3) FU | 3 & fehd T 1199 &
(4) FF 13K FoF 1| 3 99 &

106. T -1- IRl e 9t IvgR el s Rafemr ot
e 3 At 21

Y-SR AFHvEd ¥ 7 Dad A &R W S4G
TS & T TR R SINEHRA & ged A9 € A9
SatT ae aga fafaemar fed 21

(1) F57 | 3tk T || 3 1eeg @
@) F | v 2 <t o | s 2
@) 7o | s & A o |l v 2
4) =24 | sk FoF || 2R v €
107. Fr=feftaa & 4 = 4 sgeTar a8 2:
(1) dieieets - YA-EEE YRafd

s
(2) fagi s Uil - wger & Fsior ¥ IyET
(3) sRamm fFaM =T - W W SRR
T
(4) &

108. T -I- FufReal 917 JAX J9arEH | aedt 21 9 I

IR I ¥ Hedt 21

FA-Iagf ¥ R it 9 galedr amar § gae
8l il afean od @ A TRAERSE fhar &l 21

(1) T 13K #2111 3 a8
(2) T 19 & AR 9 11 39T &
(3) U | 3 B A T 119 2

(4) F9T 1 3R Fo 1| A q
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109. Statement -I- In exponential growth unlimited

110.

1.

112.

113.

Resource (food and space) availability is obviously
essential for the unimpeded growth of a
population.

Statement-ll-Natality is the number of deaths in
the population during a given period.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Statement -I- Animals that have had their DNA
manipulated to posses and express an extra
(foreign) gene are known as transgenic animals.

Statement-ll-Presence of pathogen (bacteria, vi-
ruses etc) is normally suspected only when the
pathogen has produced a disease symptom.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

Use of microorganisms for the disposal of
pollutants is termed as

(1) Integrated organic farming

(2) Cybernetics

(3) Bioremediation

(4) Zerowaste

Which one of the following matching is correct

(1) Early diagnosis possible — PCR
(2) Conventional methods  — Urine analysis
of diagnosis
(3) Early diagnosis possible — Recombinant
DNA technology

@ Al

Which of the following is the correct match
regarding biodiversity of Amazonian rain forest

(1) Plants — 40000 species
(2) Fishes — 3000 species
(3) Amphibians — 427 species

@) Al

109. U -I- AT gfg ¥ fondl wafte Y st afe =

110.

111.

112.

113.

fore wyeeT: SR 9anM (AER R ®IF) I9a=
BT A 21

Fo-ll 2 ferdt fndl wafte F & et sEfr A 99 A
el # FEm 21

(1) F¥ | 3R Fo4 1| 3 39T

(2) T 199 & AR F 1| 39T &

(3) FUT | 39T & wfehd T 1o 2

(@) YT | 3R Hu |l S 9 B

Y -1- ¥d g3 e DNAH aRare s arr v
sifaRea (aredl) i caftera sar 21 i AT =T
=TT Al 31 I IR 9= Fed 2l

FYA-IAeEF (S, [y @it ) i Suafy &
AT 99 91 9ol 21 99 399 g 39 A B
wepr fRErs 31 e B

(1) F 131K &9 1| 3 39 B

(2) T 19 2 AR 9 | 38T

(3) T | 3T B oifhe oo 119 B

(4) T | 30X F Il 3 /T E

T & Retiorer 3 Gl &1 T4 Hoamr 2
(1) TEnRE s A

(2) AT

(3) TANARIET

(4) I e

Frfafaa ¥ A o9 @ sgegar 9 21

(1) A FIRFYF 9899 -  PCR
T B

(2) ITER &I T - 93 fawelyr
faferr

@) W F IRFYF eI - RemiRe
e 2 DNA &

(4) =

Fr=feftaa & @ &9 9 sgeuar sFivF a9 9 @ e
fafuar & T=xf ¥ v 2

(1) 9eq — 40000 SwfeET
(2) w=forr — 3000 SHfeEr
(3) R — 427 wfeEf

@) &
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114.

115.

116.

17.

118.

119.

Which of the following is the correct match
Insitu conservation
Tokyo in 1992
Australia in 2002

(1) Sacred groves
(2) TheEarth summit -
(3) World summit -
(4) Seed banks -

In situ conservation

Which one of the following is the correct match
(1) Haplontic life cycle -  Fucus

(2) Diplontic life cycle - Ficus

(3) Haplonticlifecycle -  Funana

(4) Haplodiplontic life cycle - Pinus
How many structures are modified stem :

Thorn, phylloclade, pitcher, phyllode, cladode,
tendril.

(1) 4
2 5
3 2
@) 3
Which is a correct statement :
(a)
(b)
(c)
(d)
M
@)
©)
)

The spores of fern germinate to give rise to
inconspicuous, small but multicellular free-living,
mostly photosynthetic thalloid body which is :

Body symmetry is a basis of classification.
All members of animalia are multicellular.
Division of labour starts from Ctenophora
Arthropodes show bilateral symmetry.
a,candd

b,candd

a,bandd

only a

(1) Gametophytic prothallus
(2) Sporophytic prothallus
(3) Gametophuytic strobilus
(4) Gametophytic sporophyll.

Which one of the following statement is correct for
cardiac muscle of human

(1) Communication junctions (intercalated discs)
present

(2) Itisinvoluntary
(3) Itis myogenic

@) All

114.

115.

116.

17.

118.

119.

Frfafaa ¥ @ sl e wd 2)

(1) 9 39eA - M G
) T qR e - 1992% e
(3) Faes w=e — 20027 3ifecferar
@) 951 3% — T 9T
FrfaRae 3 @ <19 49 speTar wd 2

(1) 3RS oiiad 9% - HEE

(2 Raie Siieq 9 - RS9

(3) AR SiaT qH - AR

(4) TIREIF Wad 9 - TS

foraeil @R 99 &1 T 8

(1) 4

@ 5

@) 2

@) 3

FY¥dasla e

(a) TR g 9 yepfar wffaseor &1 w2
(b) widferar & @i gee TgHlEEia €

(c) »FT FvTeF FIRIT & 91087 Bl 2

(d) Iy e gafif vehfa +@ &

(1) a,c3R d

(2) b, c3Rd

(3) a, b3k d

(4) FaAa

T & A AROT B A1 AT, DT AT TgHg
T, A RrETETs dd9Es 1R e
¥ Sife 2

(1) g Trde|

(2) SvIafie TrdeE

(3) grrIEfE e

(4) gHEFRRRE TR

Fr=feiaa ¥ 3 i 91 FoF e 9 geg I @ forg
w2

(1) FgTT o (seecs e ) orl ol R
(2) 9% sfew B ®
(3) 7% AN BT 8

@) =T
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120. How many are the correct statement for cockroach:

121.

122,

123.

124,

(a) In each segment, exoskeleton has hardened
plates called sclerites

(b) Body is segmented and divisible into three
distinctregion

(c) Maxilla is a mouth part

(d) 7*"sternum of female cockroach is boat shaped

(1 4

@ 3

() 2

@) 1

Given below are two statements

Statement |I:

Cartilage is a fluid muscular tissue.

Statement Il :

Blood is a specialised epithelial tissue

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Trichomes, root hairs, stomata, etc. are included
under

(1) Ground tissue system

(2) Vascular tissue system

(3) Epidermal tissue system

4) All

The balloon - shaped structures called tyloses :

(1) Are linked to the ascent of sap through xylem
vessels
@

Originate in the lumen of tracheids
(3) Characterize the sapwood
@)

Are extensions of xylem parenchyma cells into
vessels

Which one of the following are correct match
(1) Xylem fiber—Living

(2) Tracheids - living

(3) Sclereids —Component of phloem

(4) Companion cells — Special parenchymatous cell

120. Freq T Fiada @ e e 2 -

121.

122

123.

(a) 94w @ A FRT Hhrer Ioigd IefeFig el 21
2 Fo @ed 21

(b) 9% @@= A eT AT B 1 TUr 39D AT T TN
B 71

(c) Argen v & INA 2

(d) HTRT i 6T 741 FLRH 19 DI & BT 8
(1) 4

@ 3

@) 2

@) 1

AR RTITA FUTE -

Sy -1:

I v WA I I 2

YT -1l :

@ o faRie I9er S 2 |

i Ry fawent F ¥ 96 IR T

(1) 3 ¥ | 3R 9 11 e €1

) T 1 T8 9g FYA 11 2

(3) FUF 17T B W] U |IHE R

(4) S FUT 13K F 1w R

(1) *ROT Fds o=

(2) 9989 FaF T

(3) =R as T

(4) &

TR T G O Tl e 2, 98 ®
(1) SISeM 36 & g 99 & IW Jed o g 2
(2) 2 & P A war

(3) Aygs it Fastan

(4) e TRIZAT FIET 7 399 § TFwead 7|

124, ffeiaa % <9 @ sgeaar 961 2

(1) STEed T — Woid

(2) I ~ @i

(3) AU — FAGH HT FIGT

(4) WEwR FifEEN — fafine deesmica TR
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125. How many matching are correct with reference | 125. frail SI&TaT TalIgd & geof W ust 21
to enzyme: i BT = e + T8 TICE
| :o:oenzyme = :poenzyme:zo-factor ii. BAGSTE = CRGSE +9 Gl
ii. Holoenzyme = Apoenzyme + Co-enzyme
iiii. Holoenzzme = A::oenzzme + Metal i:ns i m =M + Iy S
iv. Holoenzyme = Apoenzyme + Prosthetic group v, SIS = Yo + diedfes e
(1) Four (1) =R
(2) Three (2) A
3) One (3) v
@) Two @ =
126. How many matching are correct with reference | 126. o™it FIEIAT WA T =T U B T & @ 2
to Digestive Gland of Human: a. M= - i Afomr
a. Gall bladder - Cysticduct b. g - R Aferm
b. Liver — Hepatic duct c. AR ARy - Y9 s
¢. Salivary glands - Five pairs d. R kY - iR & T w9 ufy
d. Salivary glands - Largest gland of Body g, i _ s £ RS
e. Bile - Secreted by hepatic FIBEA Zg 9T e 2
cells of pancreas
(1) Three (i) iF
(2) Four () =
3) T (3) =
(4) One @) T
127. Which one of the following are the voluntary | 127. Fe=fafaa ¥ @ =19 € ¢eaw fvar 21
process o Ry
a. Defaecation
b. Deglutition > ﬁ“?‘ﬁ i
c. Peristalsis . wHIRI
d. Churning movements d. A= afy
(1) Onlyb @) ab (1) &ael b (2) a.b
3) a,b,d 4) a,b,c (3) a,b,d @) a,b, c
128. What is the similarity between mesosome of | 128. M=Ralcy & Msaw 3k FErwifgar M et =
prokaryotes and cristae of mitochondria : A 1 G B
a. They increase the surface area a. I8 SABA F TGHT
b. Help in respiration b. ¥ad ¥ WerFdl HE
c. homologous structure C. AT J
d. Analogous structure d. TW &9 9
() a, b, c 2) Onlyb, d (1) ab,c (2) ®aw b, d
(3) a,b,d (4) Onlya,b (3) a,b.d 4) 9 a, b
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129.

130.

131.

132.

Which is the correct statements between 70S and
80S ribosomes

a. In both larger unit are same

b. In both smaller unit are same
c. In both larger unit are different
d. Both are present in Amoeba
(1) b,c,d

(2) a,d

) cd

4) a,b,d

In the given figure, which is the correct statements
forA,Band C:

(i) A-living tissue help in food translocation

(ii) A=help in water transport

(iii) C-Impervious for water

(iv) B—outer boundary of cortex

(1) i, iii

(2) ii, iii, iv

(3) i, iii

4) ii,iv

How many cell cycles of yeast can be completed
within the duration of one cell cycle of human
cell :

(1) 16

(2) 90

@ 2

(4) 10

Which of the following match is wrong regarding

transport of gases during respiration
(1) 97% 0O,, RBCs
(2) 3% 0, dissolved in plasma
(3) 70% CO, bicarbonate

(4) 3%CO, dissolved in plasma

129. 70S 3T 80S TGN & oI ST A1 ¥ 931 2|

a. A A =8 IT-THE I B
b. 3 ¥ S IT-FHIE T9H 2
c. A ¥ T Iy P 2
d. <A griEr F Juite @

(1) b,c,d

(2) a,d

3) ¢ d

@ a b, d

130. R A R ¥ A, B3 ¢ D R Sl a1 FvF w6 2

() AT IR A 98l S 19T Goid Sk
21

(i) Astar & qRaeT ¥ W8T dar 2

(iii) C-v1e1 & forg e

(iv) Bavhe % 9rsd 9 2
() i, iii
@) i, iil, iv
3) i, il
@) i, iv
131. ¥ B FIAFT T T FAH 9 F¥ Jafr F A
F Fras e o of 8t 9 2
(1) 16
) 90
3) 2
@) 10
132. F=iferfRaa argeaar 3 =19 va@ o @ daa d6i &
IRaeq & g A Taa 2
(1) 97%0, RBCs
) 3%0, AT gferd
(3) 70% CO, TEFEC

(4) 3% CO,

AT ¥ gferd
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133. Which statement is true

(a) In blood CO, comparatively diffuse easily

because of its high solubility
(b) Carbonic anhydrase present only in plasma

(c) CO,diffuses into blood passes into RBCs and

reacts with H,0 to form H,CO,

(d) Chloride ions diffuse from plasma into RBCs

to maintain ionic balance
(1) a,bandc
(2) a,candd
(3) bcandd
4) banddonly

134. Which one of the following feature are similar

among
Imbibition, Diffusion, Osmosis.

a. All are active process

b. All are uphill process

¢. All are required special membrane protein
(1) a,b, ¢

(2) Onlya

(3) a, c

(4) None

135. Which of the following statement is correct:
(1) Simple precursor of middle lamella is cell-plate

(2) Atthe time of cytoplasmic division organelles like
mitochondria and plastids get distributed betweens

the two daugther cells.

(3) In an animal cell, cytokinesis is achieved by the

appearance of a furrow in the plasma membrane.

(4) All of these

133. T 91 FY I 2

(a) @ X CO, FAfere Frciaar & =R e & fFeRa
B 9 2

(b) TR TETESS had Il A IR it 8

(c) CO,7ad ¥ fauRa &t Wt @ ik RBCs ¥ Wi
H,0 & a9 fFa1 9%& H,CO, 11 @

(d) FERISS AR <o A FERT Set RBCs I S
Jmafrw I i enlig Fw@r

(1) a,b3Rc

@) a c3id

(3) b,c3iRd

(4) b3 dFaa

134, Forafeea & 3 =i9 A 3707 31 AT, e, R

T AT 2

a. o 9fky giar @

b. @i FiRe year 2

c. @1 =l falire Rifeast WdT ) sasgear 2l 3

(1) a,b,c

(2) Fad a

@) ac

(4) S &

135. Fferiaa I @ =9 @1 F9 96

(1) 91e7 YfegaRT T AUROT TR AT o IR BT 3
o iférent wefear wed

() FREFE" e & 99y SR 3E S99
AETIHI-2aT T T T <F Gaid IRl # faaeer
Bl W 8

(3) 9Tt eRIfAreRT T SHiTAIeRIEed AW SHaeeehan 3 g
T T ¥ T B

(4) ST &0
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PART-1 (SECTION-B)

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 question, first 10 attempted question will be
considered for marking.

136.

137.

138.

139.

140.

Which of the following statement is correct for the
given figure :

M
@

Formation of synaptonemal complex
Chromosomes are moved to spindle equator and
get aligned along metaphase plate through spindle
fibres to both poles

©)
(4) None of these

Which of the following is not a characteristic
feature during mitosis in somatic cells :

(1) Chromosome movement

Centromeres split and chromatids separate

(2) Crossing over
(3) Spindle fibres
(4) Disappearance of nucleolus

Element present in both ferredoxin and biotin is
(1) Potassium

(2) Sulphur

(3) Magnesium

(4) Iron

Mg** is an activator of

(1) DNA polymerase

(2) RNA polymerase

(3) PEP carboxylase

(4) All of these

The enzyme that is found in C, plant is
(1) RUBISCO

(2) NADP reductase

(3) ATP synthase

@) All

YRT-1 (Evs-B)

T | & 1599 21 et 57 15951 F ¥ @l o
1095 T gahal 21 e ghzret 102 siftrs yoq =1
IR A1 2 A 5 TR g¢ T 1095 & 4= BhE)

136.

137.

138.

139.

140.

Fefaa FARI R e & e s &

(1) e gt & e

(2) O AT W AR AHC TAETT TefH T
Tl e YAl A THTg ¥ F 9 &

(3) i fvifora s PRfes srevr &Y o @

(4) = =&

et & S v wraRms o T8 21 Wi
FIfrE ¥ TG e & e

(1) A I
(2) fafFFa

(3) 9% ¥

(4) iz = fd@g =7 3

4T a9 ol DR it aEifesT A A fiewr 2:
(1) R

(2) FoFT

(3) Wi

(4) s

Mg* foraeT it 2

(1) DNATYIHRST

(2) RNATTRIRST

(3) PEP =hEiierdest

(4) =

98 YA Sl C,UIRY ¥ Yrr =i 3
(1) RUBISCO

(2) NADP Rearewt

(3) ATPfE=g

4) =1
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141.

142,

143.

144,

145.

Which one of the following would not be a
normally a limiting factor of photosynthesis :

(1) Oxygen

(2) Light

(3) Carbon dioxide

(4) Chlorophyll

The correct sequential stages of calvin cycle are:
(1) Carboxylation, Reduction and Regeneration

(2) Carboxylation, Regeneration and Reduction

(3) Reduction, Carboxylation and Regeneration

(4) Regeneration, Reduction and Carboxylation

How many matching are corrects :

a. 2-chambered heart - Fishes

b. 3-chambered heart Two auricle and one

ventricle

c. 3-chambered heart - Two ventricle and
one auricle

d. 3-chambered heart - All reptiles,
Amphibian

1 3 @ 2

Q) 4 @) 1

Given below are two statements
Statement I:

Angina can occur in men and women of any age but it
is more common among the middle-aged and elderly.

Statement Il :

Coronary artery disease often referred to atherosclerosis
,affects the vessel that supply blood to the heart muscle.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement |is correct but Statement Il is incorrect
(3) Statement lis incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Outer covering of heart is :
(1) Pleuralmembrane

(2) Pericardium

(3) Mesoorchium

(4) Piamater

141.

142.

143.

144.

145.

gehrar Getyer #) fbar A et A A b Ay S
FRE T 2

(1) 3=

(2) T

(3) A AZHFETES

(4) FARMRA

FfcaT o B I8 FgFHRE T 21
(1) FETFbeIE, Regem o1 Remem
(2) FETFEIE, R g Regem
(3) Remm, FEtaions Tu1 Rerrem
(4) Remam, Regad a1 eI,

forar i areTar v 2

a. 2§29 - IS

b. 3 geq - 3 Fifeie ot v e
c. 3FaEH - @ Fem ik o afie
d. 359 g4 - o0 9099, IR
(1) 3 @2) 2

@) 4 @1

R Rewd T

YA -1:

TEATET T A1 I ol H Rt o 99§ B gk © wifte
HeATEE T JETaedT ¥ g R B B
Y -1l

2 o A = o ofleede & w1 ¥ weifg
farar wmar # fomd geg 39 =1 o @ Syl e ARl
aifafar wafae 2 2

R R fawet F @ @8 IR o
(1) I T | SR T T B
(2) T 198 g F I e B
(3) F |79 B W U |IFET B
(4) 3 T |1 3R FUT (19E B

& o AEl AT HEdr 2 :
(1) g fareedt

(2) geasmaT

(3) Frmiaiem

(4) R
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146. Select the correct option for the given diagram 146. 2 1 R 9 fore 98 faey &1 99 =¥

EE .
(1) Diagram related with ethylene discovery (1) Fora sarEele & |9 ¥ wefem ?
(2) Diagram related with Auxin discovery 2) for= sifferas &t @ier & wwafg 2
(3) Diagram related with gibberellin discovery (3) o= oo = @ie & g 2
(4) Diagram showing plasticity @) o =REEE T TeiffT = @ 21
147. Select the options that correctly identifies the parts | 147. 3o (ﬁq;l.—-q) + 4 @ RF F AY Fas Tmid
labelled from A to F in the given figure of nephron. a4 9E) w9 ¥ vEE QR |

A B C D E F E F

(1) Afferent PCT Henle's DCT Collecting Vasa (1) I T

arteriole loop duct recta e
(2) Efferent PCT Henle's DCT Collecting Vasa (2) wE e

arteriole loop duct recta afe
(3) Afferent Peritubular Henle's DCT PCT Collecting t3) ReT T

arteriole  capillaries loop duct W
(4) Afferent Henle's Collecting PCT DCT Peritubular (4) s TRE wWE PCT kax w

arteriole  loop duct capillaries L ke s e
148. Which of the following set is wrong 148. F91 A A T W AT I 2 -

(a) Acetyl Co-A ~ 26 (a) TIETE HITTA-¥ - 2¢C

(b) Isocitric acid - 4c (b) SRR P - 4c¢

(c) o-ketoglutaric acid - 6C (©) o hIEHRRE FF - 6C

(d) Succinyl co-A - 4¢C (d) = co-A - 4C

M b (1 b

(2) a,b (2 a.b

(3) a, ¢ (3) a, ¢

@) a d 4 ad
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149.

150.

Tergsiasiad, A= dort & e F . st
&I ¢ e 2|

(1) =

(2) =9

(3) TRE

(4) 9=
;@mﬁﬁa‘xﬁaiﬁaaﬁﬁmwﬁ?ﬁam

(1) AEF TR E
2) IR TE A
(3) &l & vFEHE ¥
(4) ST o
AT-2 (|Ys-A)

T 35 v aFEd @

149. Glycolysis, a chain of ..... reactions, under the
control of different enzymes
(1) Nine
(2) Ten
(3) Eleven
@) Twelve
150. Seed coat barrier in some dormant seeds can be
broken by
(1) Mechanical abrasions
(2) Sandpaper abrasions
(3) Microbial action
(4) Allofthese
PART-2 (SECTION-A)
Attempt All 35 Questions
151. A few normal seedlings of tomato were kept in a
dark room. After a few days they were found to
have become white-coloured like albinos. Which
of the following terms will you use to describe
them :
(1) Mutated
(2) Embolised
(3) Etiolated
(4) Defoliated
152. Which one of the following is incorrect match
(1) Synergid — gametophyte
(2) Antipodal cell — gametophyte
(3) Nucellus — sporophytes
(4) Tapetum — gametophytes
153. In the given below example :
How many cells are haploid
Megaspore, microspore, MMC, zygote,

endosperm, pollen grain, generative cell,
vegetative cell, nucellus, functional megaspore,
synergid, PMC.

(1) 4
@ 7
@) 6
@) 9

151.

152.

153.

TR & T |/ GFIFT FRY SR A @ I 21 £
oot & @e 9w a6 A whe O @ Al A e
Bl W 2 Fefaa 3 3 a7 o I g Saa
WD Ui T & o

(1) SaRafda

(2) iferee

(3) Siedies

(4) TS

e & & @t @ sigegar e 2
(1) ¥ R - AT
(2) TS RifdrET - dfidERe
(3) dreEEH - TIRET
(4) e - AR

AR 2 1 RN Ierr # el St 3w
K

TSI, TESISI], MMC, 3T, SOT91Y, YRITRYT,

dITY], e ¥, PMC.
(1) 4
@ 7
3) 6
4 9
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154,

155.

156.

157.

158.

If in a flowering plant the total embryo sac present
in differents flower are 100 then what is the number
of total egg cell:

(1) 400
(2) 300

(3) 200

(4) 100

Which one of the following is the correct match
(1) Total hind limbs bone 65

(2) Total hind limbs bone 55

(3) Clavicle - Appendicular skeleton

(4) Scapula -

Pelvic girdle
Given below are two statements
Statement I:

Some specialised cells in our body macrophage and
leucocytes in blood exhibit amoeboid movement

Statement Il :

Ciliary movement occurs in most of our internal tubular
organs which are lined by ciliated epithelium

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement lis incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Which one of the following bone are Included in
Axial skeleton:

Maxilla
Coccyx
Sternum
False ribs
Nasal bone
Only ab, c
Only b, c
Only b, c, e
a,b,cde

oo go

Which of the following statements are Incorrect
forisogametes of Cladophora

(1) Their gametes are similar in appearance
(2) Their gametes are similar in physiology

(3) Morphologically It is not possible to categorised
them into male and female gametes

(4) Allof these

154.

155.

156.

157.

158.

IR ¢ qeiig 9eg & Al gt F e sy #it
FEr 1008 99 HvS e S |d T ge el

(1) 400

(2) 300

(3) 200

(4) 100
Frfafaa & 4 =9 @ ageT o 21
(1) T 9T=UIE 3 - 65

(2) Td 9= e - 55

(3) Tl - I FeFE
(4) ThYel - ST Azgen
TRARTITT AT

Y -1:

TR IR ¥ T faftre Il SR - ARe SiR g
iR & 3ridT T TelT w7

Y -l :

AR SAfreier Aferaer 3 #, S geAny Sufeia @
AR Bl 2, TeAnT i B

i oy el F A 9 IR T

(1) 3 T | 3R T T B

(2) FUF |EE T YU || T B

(3) YT | B TR Y I R

(@) A HUT 13X FAT 1T 7

Frfaftaa A A a7 G sty srilg S 3 afafem 2:
a. dAfraer

b. ®ifraa

c. IRy

d. 3 yalerr
e. A Fifey

(1) ®ad ab, ¢
(2) a9 b, ¢

4) a,b,cd e

fr=fafaa & =9 @1 *F FeETEIT & arganticE
fore wy wdY @

(1) T O UF T g 3 #

(2) 3% g [ U 99 S B 8

(3) SMFRFA & ¥ X 3R AT I AT ST -
S ¥ ST T

@) =R
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159.

160.

161.

162.

163.

Which one of the following are a type of lipids
(1) Glycerol

(2) Triglycerides

(3) Arachidonic acids

4) All

In which animal the mesoderm is present as
scattered pouches

a. Ascaris

b. Spongifla

c. Fasciola

d. Adamsia

e. Ancylostoma
a,be
a,cde

(3) a,b, e

4) a, e

In which of the following plant a pair of leaves
arise at each node :

(a) Calotropis
(b) Guava

(c) Chinarose
(d) Alstonia
(1) a,b,d

(2) a,b, c

(3) a,b

4) Onlyd

In the given below example how many member
contains both RNA and DNA

Viroids, Prions, TMV, Mycoplasma, Paramoecium,
Slime moulds, Archaebacteria, Rhizopus, Yeast,
Cuscuta

(1) 6

(2) 5

@) 8

@ 7

Zygotic meiosis is characteristic feature of :
(1) Cycas

(2) Pisum

(3) Funaria

(4) Spirogyra

159, frfafaa o @ =9 v TR &1 fafige 21

(1) Faada

(2) TrEfioraaEs

(3) iR spet
(@) =it

160. fra gl # A=t fawd g Seft & w0 ¥ gl et

161.

21

a. veERg

b. @it~

c. wREer

d. R

e. UhIgdIT
(1) a,b, e

(2) a,c,d e

(3) a,b, e

4) a e
Frafafaa o sl @ qtg ¥ 198 s @ o Wi
qfearat Aaad 2 -
(a) eliIiE

(b) IFT®S

(c) Tg=a

(d) TeE

(1) a b, d

(2 a, b, c

(3) a,b

(@) Faa d

162. 11 R3 A Jerwil A o 9@ IROTOY0 R

SowH0v0 <+ R =1

fise, e, TMV, Issivarsen, SR, saae

(1) 6
(2) 5
(3) 8
@ 7

163. ol 3 kAl favir wnerviiss T star @ -

(1) W5
(2) #eX

(3) e
(4) =RIET

NLI/40



164. Which of the following will not result in variations
among siblings :
(1) Independent assortment of genes
(2) Crossing over
(3) Linkage
(4) Mutation
165. The theory of spontaneous generation stated that:
(1) life arose from living forms only
(2) life can arise from both living and non-living
(3) life can arise from non-living things only

(4) life arises spontaneously, neither from living nor
from the non-living
166. Who gave the term "saltation’ for mutation?
(1) Charles Darwin
(2) Thomas Malthus
(3) Hugo deVries
4) T.H.Morgan

167. Select the correct statement for the given diagram.

(1) A—Transmites impules towards the cell body.
(2) C—Form a myelin sheath around Axon

(3) D-Transmites impules away from the cell body.
4) Al

164. 1 A A =l weled A Rv=aE &1 sr® =19 e
(1) < T EGT AIEA
(2) R
(3) feipar
(4) IRae
165. T w=F1aIE o1 Rier aftfa a2 f& .
(1) e Fae ST & Ie=T 73m 2|
(2) e ST 3 I I & I I B
(3) oiad Hge Feilg ¥ 3= Bidr 2

(4) Sae =T T a9 S & 7 feifa & See gaT
7
166. IR & ford wred e Irse T foar -
(1) T4 =ifEs
(2) YR A
(3) T & A
@) aea. qFH
167. I3 1 Fo & forg &8 e &1 999

(1) A—JEIqAl I R FE AR Horr 21

(2) C-UFaF & AR 3R Ao JHER0T S 21

(3) D—daFEg JET F FfErw T ¥ T S 2
)

4) a9

—
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168.

169.

170.

171

172

Which is a wrong statement

(a) IP,is a secondary messanger

(b) Cortisol is a protein hormone

(c) RAAS secretes glucocorticoids

(d) TSH is not secreted by pituitary gland
(1) aandb

(2) band c only

(3) b,candd

(4) bandd only

Full form of SNPs :

(1) Short nucleotide proteins

(2) Single nucleotide proteins

(3) Single nucleotide polymorphism

(4) Simple nucleotide polymorphism

In the given below example how many plants in
which persistent calyx is present :

Tomato, Brinjal, Asparagus, Aloe, Tulip, Petunia,
Pisum, Soyabean, Gram, Sesbania

M 4
@ 3
3 5
“) 6

How many matching are correct :

a. Water act - 1984
b. Airact - 1981
¢. Environmentact - 1974
d. Montreal protocol - 1990
e. National forest policy— 1980

(1)1
@ 2
@) 3
@) 4

What percentage of water reaching the leaves is
used in photosynthesis and plant growth :

(1) 1%
2) 2%
@3) 5%

(4) Lessthan 1%

168. =T & &I 91 T IWT 2
(a) IP, T feclias wovmEEs 2
(b) FETaTa g T sRi 2
(c) RAAS T&ISITHTISH T UEUT dl 3
(d) TSH faeged af~~ & g arfaa =1 <lar 2
(1) a3ib
(2) F99 b3 ¢
(3) b, ¢ Fd
(4) e b3 d

SNPs &l TUiq 3|

(1) Short nucleotide proteins

(2) Single nuclectide proteins

(3) Single nuclectide polymorphism
(4) Simple nucleotide polymorphism

169.

170. = RA 3 Jerewn ¥ 4 fraa Wd 2 Rl Sefeardt

aicra Iuftem Aar 21
(1) 4
@2 3
3) 6
@) 6

171. frorll ST a9 2 -
a. i AfefEE -
b. ag AfAFET -
c. wwiawr sfafEr -
d. Witegd Nasa -
e. U 9T iR
(1 1
2 2
3 3
4) 4

1984
1981
1974
1930
1980

172. 90 9% 9594 & o T Fraen vioea SR g

FFAT TuT IRy gfe F 9ged B o
(1) 1%

2) 2%

(3) 5%

@) 1%¥ =9
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173.

174.

175.

176.

177.

178.

Which of the following is the incorrect statement:

(1) Irreparable computers and other electronic goods
are known as electronic wastes.

(2) Electronic wastes are burried in landfills or

incinerated.

Radiation, that is given off by nuclear waste is

extremely beneficial to organisms.

(4) Water logging and soil salinity are some of the
problems that have come in the wake of the green
revolution

&)

Which of the following is a feature of the plasmids:
(1) Transferable

(2) Independentreplication

(3) Circular structure

@) All

In ECO RI, what is ‘R’

(1) Roman name of the gene

(2) Roman number

(3) Name of the strain of DNA

(4) Name of the strain of bacteria

RNA and protein portion are removed during DNA
isolation by treating with

(1) Lysozyme , cellulose

(2) Chitinase, protease

(3) Ribonuclease, protease

(4) RNA polymerase, protease

Besides first restriction endonuclease how many
restriction enzymes are known today

(1) 230

(2) 900

(3) More than 900

(4) Nearly 900

In Polymerase chain reaction there are three main
steps which are repeated in several cycles. What
is the correct sequence

(1) Denaturation, extension and annealing
(2) Denaturaticn, annealing and extension
(3) Annealing, denaturation and extension

(4) Annealing, extension and denaturation

173.

174.

175.

176.

177.

178.

Fretfofaa & @ =t @1 F3 W99 2

(1) W& FFeX 3R oacive WM S G @
AIF el T N &, TAFIAF IR FEA B

(2) FeEE Fufine I d=fhew ¥ me fRar = 21

(3) ey Fmfeee ¥ e amr fafeor siel &
o I5e wERwE= B R

(4) 1 T~ 3R FAUET o O TN § 9 ERe
=T & FRT 1S 2

PR At sl e w12 :

(1) TIFFRYT 8 9

(2) T ST

(3) T |

@ =

In ECORL ‘R B :

(1) S T I A H

(2) W= @

(3) Sog0T0 YT H AH

(4) SiEI] T9E F AW

DNA & e & <9 RNA 3R DI 91T =6l gemn

wirar 2 1 fred garda a@

(1) TR, et

(2) FEEH, SR

(3) TGS, TETa

(4) RNAYRIRGST, MRS

99 gfaaee TR & AfaRed o o=

e USTS A A

(1) 230

(2) 900

(3) 900% aferw

(4) TARAT 900

YieiPRS sfEer afiiear & I wer a2 3 AT @
LT

(1) Fafteroeror, 7o 3R ST
(2) FAfraeT, A i 9ER
(3) A, FRftrasr s gar
(4) T, TER S SRR
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179.

180.

181.

182.

183.

184,

185.

Transforming principle given by :
(1) Colinmacleod

(2) Oswald Avery

(3) Griffith

(4) Maclyn Mccarty

The nucleosome in chromatin are seen as :
(1) Tree-on - string

(2) Beads - on - string

(3) Flower - on - string

(4) Stars - on - string

The first genetic material is :

(1) RNA

(2) DNA

(3) Protein

(4) Lipids

How much DNA base sequence among human
beings is same :

(1) 50%

(2) 60%

(3) 99.9%

4) 3.4%

Taylor and Colleagues in 1958 experimented on
which plant for proving that replication is
semiconservative

(1) Pea
@
©)
(@)
In a DNA molecule :
(1) A=TandC =G
(2) A=GandT=C

(3) A=UandT= C
4) A-GandC =G

Vicia faba
Chinarose
None of these

An abnormal human baby with '44AA+XXX'
chromosomes was born due to :

(1) Fusion of two ova and one sperm
(2) Fusion of two sperms and one ovum
(3) Formation of abnormal sperms in the father

(4) Formation of abnormal ova in the mother

179.

180.

181.

182.

183.

184.

185.

TR e fear i
(1) FeA Ao 51
(2) 3NEERE &Y

(3) firirer gy

(4) HFAT Ahenrel B8
A FREAE ) RErd ved @
(1) 3 T ger & T@
(2) =0 9 Aiz" & aE
(3) N W I F TE
(@) N X foar & We
I AARE o 8

(1) RNA
(2) DNA

(3) W=

() o

A4l ¥ Rra DNA IR 39 99 219 2 ¢
(1) 50%

2) 60%

(3) 99.9%

@) 3.4%

2o 3 371 geaifiEl 9 19589 fve wieh w yghr
Forar 95 e =@ & ol 7 siigfias seiewl 2

(1) AT

(2) farar wrer

(3) Tsedd

(4) T ¥ HIS T8
AT & A A :

(1) A=T #LC =G

(2) A=G X T=C

@) A=U R T=C

4 A-G IR C =G

T FMG A9 dshl "44AA + XXX VA & 9
Yot Bt 21 fra &Ror :

(1) 2 392 3R F Y] P G &
(2) 3 IF] 3R TFH 0T & FerA |
(3) STEFIT IERI] T T A o &
(4) MY 303 1 A1 ¥ T &
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PART-2 (SECTION-B)

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 question, first 10 attempted question will be
considered for marking.

186.

187.

188.

189.

190.

Which one of the following is odd :
(1) Axial

@) Tal

(3) Inflated

(4) Pod colour

Tallness (T-) is dominant over dwarfness (tt) while
red flower colour (R-) is dominant over white colour
(rr). A plant with genotype TtRr is crossed with plant
of genotype ttrr. Percentage of progeny having tall
plants with red flowers is :

(1) 25%
@) 50%
(3) 75%
4) 100%

If a female is sterile due to rudimentary ovaries,
which syndrome do you expect in her :

(1) Down'’s syndrome

(2) Turner's syndrome

(3) Klinefelter’s syndrome

4) All

The term "linkage" was coined by
(1) G. Mendel

(2) W. Sutton

(3) T.H.Morgan

(4) T.Boveri

Heat loss or heat gain is a function of surface area,

small animals tend to :

(1) Loose body heat slowly when it is cold outside
(2) Loose body heat very fast when it is cold outside
(3) Gain body heat when it is cold outside

(4) None of these

MAT-2 (EvE-B)

T | & 1599 21 et 57 15951 F ¥ @l o
1095 ¢ gehal 21 3T whzmedf 109 3iftres yoq =1
IR A1 2 A 5 TR g¢ T 1095 & 4= BhE)

186.

187.

188.

189.

190.

Frfafaa & 9 =9 w2

(1) e

(2) =T

(3) Foreger

(4) el T AT

TR (T-) A9 (tt) R S e 7 31 (R-) 99
I AT (rr) S ET 21 9 e ot si=ey TtRr2

& B ttrr FRY 99 A ¥ FOEr oan 21 W
e =1 gfer sargd St o 8 JiR T T e @

(1) 25%

(2) 50%

®3) 75%

(4) 100%

Iz v Az SeafaEiRia VSRR % FHROT TSI &

@ e I g e

(1) =3 g

(2) T forg

(3) FARAheK R

(@) &

sz “foranwr’ fear sy Am

(1) o ==

(2) dIeeR WA

(3) Slow=o AWH

(4) Fo [

BT @ AR di I 904 gRar Wik 2, s s

W T

1) aaa;ra?aﬁr%ﬁraﬂﬁwﬁtaﬁmﬁ—ﬁw
=T 2

(2) 1 FTEY &S BT & AT 39 IR HT FS T8 don
¥ T A 8

(3) T AT8Y 5T BNl & A6 39 IR I FOA wel B
(4) IRF § A FE 7T
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191. Select the correct option for the given diagram

(1) Tubectomy

(2) Sterilisation

(3) Atype of contraceptive method
) All

192. Which one of the following are the correct

statements for STls
(a) STIs are may be curable and may be non curable

(b) Early symptom of most of these are minor and
include itching, fluid discharge, slight pain, swelling
etc in the genital organ

(c) Infected females may often be asymptomatic and
hence, many remains undetected for long

(d) STIs are a major threat to a healthy society.
(1) a,b,cd

(2) Onlya, b, c

(3) Onlyb, c

(4) Onlyb, c, d

193. Microhe used to control butterfly catterpillars is

(1) Escherichia coli (2) Salmonella typhi

(3) Bacillus thuringiensis (4) Bacillus cereus

194. Select the correct option for the given diagram

(1) Diagrammatic sectional view of seminiferous tubule
(2) Diagrammatic section view of ovary
(3) Diagrammatic sectional view of mammary gland

(4) Diagrammatic sectional view of uterus

191. 33 1@ = 2 forw 98 ey =1 w99 w11

g

)
) e
(3) T TER T MU A

(4) @i

192. Fr=ifeifam F 9 &9 91 F2F STIs & Riv e 2

(a) STISTIER TG & Yol & 3TUET TSl B Geahell &

(b) T AN & JESMET A&V 95T T - Foh B B
SfF AT F G, T WG AFT, TEH 6 A

Yol e & ¥hd 2

(c) Fwiad foal Frredt B gadt 21 Sft-F¥ IR
FRHAT T T YR 8l B & 3R gafey W oy

EEORECIRCIE G R G|
(d) STls e TSl & fog @ 7
(1) a,b,cd
(2) @9 a, b, ¢
(3) ®aw b, ¢
(4) FTAb, ¢, d

193. G&oilT ol FeIrdrs feduer S Fafaa s &

J9EHT Biar 2:
(1) TEIRRRT T (2) AR TTEFT

(3) Hew AT (4) e Wew
194. o3 & o= & o v famew =1 999 X

(1) TS AR & ARET FIC H TF 3
(2) 3 & AREE FIE F UF T

(3) W9 T & FRE FIC H TF I

(4) T F A FIC F TH 3
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195,

196.

197.

198.

199.

Which one of the following reproductive event
takes place in both male and female human being:

(1) Menstrual cycle
(2) Fertilisation

(3) Gestation

(4) None of these

Which one of the following is correct match for

human

(1) mammary lobes - 10-12

(2) menstrual cycle - 20-24 days
(3) menstrual flow - 3-5days
(4) owvulation - 10™day

Standing crop is :

(1) Agricultural field

(2) Inorganic nutrients

(3) Mass of living organism

(4) Amount of soil

What type of ecological pyramid would be
obtained with the following data :
Secondary consumer: 10 g

Primary consumer : 60 g

Primary producer : 120 g

(1) Inverted pyramid of biomass

(2) Pyramid of energy

(3) Upright pyramid of numbers

(4) Upright pyramid of biomass
Given below are two statements :
Statement I:

AIDS is caused by the human Immunodeficiency
virus (HIV), HIV is a member of a group of viruses
called retrovirus.

Statement Il :

HIV/AIDS is not spread by mere touch or physical
contact.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
@
@)
)

Statement | is correct but Statement Il is incorrect
Statement | is incorrect but Statement Il is correct
Both Statement | and Statement |l are correct.

195.

196.

197.

198.

199.

Fefefta ¥ @ =9 9 99 9t g ) S R e
A ¥ et 2

(1) =a IF

) ™=

(3) ey

(4) g &

Frfofaa ¥ ¥ = & o 319 6 sgeTar w8 )
(1) =9 e - 10 -12

(2) JEaw - 20 - 249
(3) A - 3-5fH
(4) 3URread - wwafE
GER T O

(1) Ffw

(2) M T9F T

(3) Sifaa Sifasr = 7mn

() Ficd it s

Fefilaa seT & 9 e 7R &1 niRiuaaia filfe
T B

fairrer STeRT: 10 g

IRt ITHERT : 60 g

et S8 : 120 g

(1) JeeT WaR =1 ik

(2) Hal 1 fRfas

(3) 9T I GrT @ e

(4) SR =T e @ fRfE
NAFFRTIE

Y I:

AIDS W-a Sfaer <g=ar fasm] & &R slar @, HIV
Ty & v e = w9 71 R R wed 21

Y Il :

HIV/AIDS ael S a1 IR & @9 3 3 & =181
Radl 21

IRF T & g1 ¥ i 2w e fanedt 7 & waifer
& IIGFT IR HT 999 Flfoig

(1) &9 | 3R &9 || ) T B

(2) Y 1981 2 AfeA FHYA 1179 B

(3) U I3 ® fthe e 198 2

(@) YT | R FU || 2T @ 2
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200. Which one of the following are absent in Cycas 200. for=fefaa & @ =i gIswa @ Fafeaa 21

a. ovule b. fruit
c. nucellus d. flower
(1) b,d

@) b,c.d

(3) a,d

(4) onlyd

a. dlavE b. &
c. dNNESHHE d. 9
(1) b, d

2) b, c.d

3) a,d

(4) FaAd
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SOLUTION

PHYSICS
SECTION-A SECTION-A

4 [NCERT-43] | 1. 4 [NCERT-43]

Average velocity .

T R
_ Total displacement _ 0 T AT = o _
zpe -2 +3
Time T 2% 3

(1) [NCERT-104] | 2. (1) [NCERT-104]

C?qmponent of normal reaction can provide B Ty —— Rt e s
centripital force I
(1) [NCERT-78] | 3. (1) [NCERT-78]

R =2H given R=2Hgiven

/ V5
v5 5 >
1 1

We know R = 4H cot6 = cotd =%

i 1
B 9 ® R=4H cot9=>cot9=E

From triangle we can say that ERCENLE T T
. 2 1 2
sihf=——=,cos0=—— sinf =—, cose——
NN NN
2v2 singcosH 26
- Range of projectile R= ————— . g9 FT g R = 2 GROEEsY
5 p
w21 A v 2 1 42
== =N
g 3 5 59 g V3 V5 59

(1) [NCERT-101] | 4. (1) [NCERT-101]

F <R .. F e<m i.e. limiting friction depends F R .. F ocm i.e. GFFT 9997 fiT & 2099 W

(R) m' 10+5 (R _m' 1045
upon the mass of body. So, (Fl] - 10 TR FEr g1 39 (Fl) s
= ()= xR =2x19.6 =204 N L3 =2
5 xFi=5x19.6=29. = (R)-3 xA =5 x19.6 =29.4N
(1) [NCERT-348] | 5. (1) [NCERT-348]
(3) [NCERT-187] 6. (3 [NCERT-187]
3 ; 4 ¢
G R 3
MM (3n pj R® md MxM GX(?TR pj R®
F=G— 5 =Fe SR E=i = =Fe— R4
R (2R) R R2 (2R)? R?

@ [NCERT-235] | 7. (4) [NCERT-235]

F = YAuAD F = YAoA®

If Y,Aand ¢ are constant then F—A =2A E o8 §

, 0 F op 2 qﬁYAaﬂteﬁqﬁﬁ?%?ﬁ'FB 2

NLI/ 2



10.

1.

12.

13.

14.

) [NCERT-250] | 8.
The weight of straw will be balanced by the force

2Tl
of surface tension -, mg= 2Tl=m =5

_2x3x1072 x10x107%
- 9.8

kg =0.6gm
(4 [NCERT- Expert] | 9.
Fractional change in period

AT 1 1 6 _5
= = =—x2x10 10x10
T zaAe 2>< X x10 x

T
% change =A?><100=10_5 %100 =107°%

3) [NCERT-306] | 10.

For same isotherm ; T — constant

S P % = P1V1 = P2V2

M [NCERT-288] | 11.

E _ K.A(G»] 792) s K1A8, _ K5AB5
dt d T

dQ
(--—— andAare same)

" dt

Kix80 Koy x90
= = =
K, 4

LK
40 60

@ [NCERT-348] | 12.

Time period of pendulum doesn't depends upon
mass but it depends upon length (distance between
point of suspension and centre of mass). In first three
cases length are same so T =T =T, but in last case
centre of mass lowers which in turn increases the length.
So in this case time period will be more than the other
cases.

(1) [NCERT-381] | 13.

Since there is no relative motion between the source
and listener, So apparent frequency equals original
frequency.

(©) [NCERT-76] | 14.

1
So new distance = 3+§ =3.5mm

2 [NCERT-250]
I 1 q9H TS 9919 & I ZN dgferd R
2Tl

ST mg = 2TI:>m=?

_ 2x3x1072 x10x 1072
- 9.8

4 [NCERT- Expert]
srafer 3 anfdr aRiass

kg =0.6gm

T 1 1 |
A?:EQAGZEXZX1O_6 x10 %1078

% change = A?wao =107 x100 =1073%

3 [NCERT-306]
AN U & e T e
P % =PV, =PV,

(1 [NCERT-288]

dQ _ KA(6;-6,) _, Kiady _ KpA8,
dt d L b

dQ
{ ot and A are same)

Kyx80 K,x90 K; 3
T2 60 K, 4
4) [NCERT-348]
T AT I AT FE9H I ¥R A8 e
o 7 e Feted g 3t soamm o & 99 9
T R R et 21 vBe 9T oS e B o T
=T =T, 3ifoe At & 72MH S &9 & o 8
foras 9RuM @eg waE 9¢ A B 3T 59 9 &
FET 3 A ) g § Sfere B
) [NCERT-381]

I A 3R ST & e S Ay i w8 2, o
T AgfeT 7@ YT & SRR Bl 2

(©) [NCERT-76]

1
=d'=—mm

R T 2

T AS W :3+%:3.5 mm
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15. (1) [NCERT-123] | 15. (1) [NCERT-123]
The voltage per unit light of the metre wire PQ is fiiex IR PQ &1 fava oi Hiex 518 71
6.00mV 6.00mV
0.600m i. e. 10 mV/m. Hence potential 0.600m i.e. 10 mV/m.
difference across the metre wireis 10mV/m x 1m : SRIEE PR
=10 mV. The current drawn from the driver cell is o7 T TR 10 myfm 5¢tm
=10 mV. IEH ¥4 A el g5 a0
10mVv
i =—— =2mA  The resistance . 10mV
5Q i =———=2mA.
502
_(2V-10mV) _1990mV _ooc n_(2v=10mV) 1900mv _ .
2mA 2mA gferer R = SmA = A
16. (1) [NCERT-110] | 16. (1) [NCERT-110]
Supﬁose m ro:'vg are f:é)nnttlacteld irllI pe(zrallei-: ancli 7 s & m ol s & \—E@[ §_§ 2 3k
each row contains n identical cells (each ce ;
having E =15V andr=20) T W F T A 1 (T )
For maximum current in the external resistance E=15V3iR r= 2q) et
nr : nr
R, the neccessary condition is R = m gieRiy R 3ifEmehas aq & fore w0 79 R = m
nx2 nx2 ;
=12="""=n=6m  ..() =12=""=n=6m ..(i)
Total cells = 24 =nxm ....(ii) FA A= 24=nxm (il
On solving equations (i) and (i) n=12 and m = 2 T 1 3R 2 F &7 F Wn=12and m =2
i.e. 2 rows of 12 cells are connected in parallel. 12 9 F 2 qTFar GR A @ﬁ E{
17. (4 [NCERT-] | 17. (4) [NCERT-]
In series In series
I O N N I N N N
P, P Py (Helts) (Hi/ty) (Ha/tp) Ps P Py (Hs/ts) (Hi/ty) (Ha/ty)
s Hg =H =H; Soty =t; +t, =6+3 =9 min ~Hy=H{=H; Sotyg =t +t, =6+3 =9 min
18. (2) [NCERT-146] | 18. (2) [NCERT-146]

19.

20.
21.

i=qv

B _ Moi _ Hoav _ 4nx1077 x1.6x107"° x6.6x10'°

2r  2r 2%0.53x107'°
2nx1.6x6.6
=== "7 —12.518
53 Tesla

(1) [NCERT-190]

ie. 1 =MBysing

sin 97—1'2“073 *1=>97300

T B0x40x10-6 2 -

(3 [NCERT-187]
2 [NCERT-208]

(Length of ¢ = Length d) > (Length of a = b). So

(ec =e4) >(ea =&p)

i=qv

B = Hoi _ Hoqv _ 4nx107" x1.6x107"9 x6.6 x10"°

r 2 2%0.53x107"0

2nx1.6x6.6
= =12518
53 Tesla

19. (1) [NGERT-190]

ie. 1 =MBysing

=3
1.2x10 L

sin 0=—————=
60x40x10-6 2

20. (3) [NCERT-187]
21. (2 [NCERT-208]

(c 1 w1 = Aol T > (a @) waTg = b )

I (6c =eq) >(ea =€p)
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23.

24,

25,

26.

27.

28.

This is because, when frequency v is increased,

1
decreases an
2nvC d
hence the current through the bulb increases.

the capacitive reactance X¢ =

2 [NCERT-390] | 23.

In electric field photoelectron will experience force
and accelerate opposite to the field so if's K.E. increases
(i.e. stopping potential will increase), no change in
photelectric current, and threshold wavelength.

3) [NCERT-447]

By using mass action law n12 =Nghp

% _(10°)
= NMh=—=
Ne 10?1

(2) [NCERT-480]
Because P-side is more negative as compared to N-
side.
(1) [NCERT- 348]

When the object is placed at focus the rays are
parallel. The mirror placed normal sends them back.
Hence image is formed at the object itself as illustrated
in figure.

=10"" per m?

M [NCERT-362] | 27.
At any point along the path 1, path difference
between the waves is 0.

Hence maxima is obtained all along the path 1. At

any point along the path 2, path defferenceis 1.5,
A

which is odd multiple of P so0 minima is cbtained

all along the path 2.

(3) [NCERT-Modified] | 28.
Q=CegqV
Q= % %60 =30C
Vi -V =9=%=30V

cC ¢C

24.

25.

26.

I8 AT €, 99 Fgd a8, A URd gioa
1

XC :27“'—0 W%Gﬁimﬂﬂma@ﬁl
2 [NCERT-390]
o &1 3 WIIEeIRI el T S T SR A

& fagde o o gafere agar 81 (s, de=s e
T FRITAGCE U X 8ol qRe] § F8 o
I T8l BRI

f—\
Poe——}
! i i
3 [NCERT-447]
TEF Ahg R A n? =ngny,
2
it _(10°) :
=np = é = 7 =10"" perm
) [NCERT-480]
TR NaTEe 1 TomT 3 PEIgE STeT | 2|
(1) [NCERT-348]

T I Y HIHd T @ o § A R e
B B 1 3 o a5 W T @ St R A famn
T

) [NGERT-362]

o7 1 & IRy Rl o g W T @ S s
07| Tl T 1 & FfeH JHRhew U BT 81 T 2
% fardt o g T o 1.5, 31 A o P
IO B1 99 2 T A I BT
) [NCERT- Modified]

Q=CgqV

a=Sx60=30C

2

Va - Vo :%:%:mv

NLI/S



30.
31.

32.
33.

34,

35.
36.

37.
38.

@
@)

@
@

@

)
3)

)
(2

Activity « No. of active nuclei No of active nuclei
« Mass of substance

A A
My M,
= A, =1.2x108 disintegration/sec.

[NCERT-72]
[NCERT-XI-17]

30.
31.

@
4

AA
Solid angle (©2) = =

= Lz =0.04

(5)
=4 x 102 steradian
32.

33.

@
@

[NCERT-72]
[NCERT-79]

| AV |= Jvf +V2 +2v,v,cos(nt—0) = 2v sing

. 6 o
= 2vsm§ since [| v, [V, ]

= (2x10)xsin(30°) = 10m/s
[NCERT-442]

In a fusion reaction the binding energy of the
daughter nucleus is greater than the total binding
energy of its prarent nuclei, so

34. (2)

freeenergy =c-(a+b)=c-a-b
[NCERT-XI-28]
[NCERT-XI-27]

All measured ditigits are significant but they
should be written according to rules of significant
figures.

35. (3)
36. (3)

= 2500 m has 4 significant figure but it is written
in wrong way

— 2.500 x 103 m has 4 significant figure and it is
written in right way.

37.
38.

[NCERT-425]
[NCERT-173]

4

2
L2 ] 1

E= 5= K [Given] . K =Py (If L = constant)

When child stretches his arms the moment of

inertia of system get doubled so kinetic energy

will hecomes halfie K/2

TIFITT o Hfehd AT o1 a1 G Ao

Tl o I H THAH

A Ag
M M,
= A, =1.2x10°8 (FFe 1 ¥%vs)
[NCERT-72]
[NCERT-XI-17]
AA
- 004
(5)
=4 x 102 e R
[NCERT-72]
[NCERT-79]

| AV |= \V2 + V2 + 2v,v, cos(n— ) = 2v sing

.0
= 2vsm§ since [|V, HV, ]

= (2x10)xsin(30°) =10m/s
[NCERT-442]

e iR ¥ T AR # TR el e g
AR FY i S e A st 2R 2 gafe
IF FHl =c—(a+b)=c-a-b

[NCERT-XI-28]
[NCERT-XI-27]

Y A T 3 GEF F B € g 96 9

el & FoFER foeaT =ifRe |

= 2500 m¥ WA AT H AT 4 B /g J T

A4 9 forar w21

— 2,500 x103 M AF 3R F wE=AT 4 B AR

wEY 9 ¥ foran T B

[NCERT-425]
[NCERT-173]
E=%=K e # ] ---lel (@i L =)

S F=a B el 8 o e & Ssed e
S AT B ST ® 3 TSl Sl @l A SR B
SR A, K2,

NLI/ 6



40.
41.

42,

43.
44,

45.

(1)
(1)

3)

@
@

(4)

The situation can be shown as : Let radius of
complete disc is a and that of small disc is b. also
let centre of mass now shifts to O, at a distance x,
from original centre.

The position of new centre of mass is given by

~6.1b% X,
2 2
o.ma” —a.nb

XCM =

Here, a=6 cm, b =2cm, x, = 3.2 cm

—oxm(2)* x3.2

X —J
HIEER, e oxTmx(6)? —oxmx(2)®
= 12.8n =-0.4cm
327
[NCERT-336] | 40. (1)
[NCERT-326] | 41. (1)
iqin © V.=V 1+L
If Tisin°C then, Vi =V 273
[NCERT-31] | 42. (3)
IP, =al
| Pz |=al
|Resultant| = 2P cos 30°
3 - =
2ql{§] =3 ql(-}) = ~3al
[NCERT-68] | 43. (2)
[NCERT 18] | 44. (2)
so E=tanf here
£ =tan60
F
[-- slope m =tan & tanB:; soE =tan & ]
E=A3N/C|.
[NCERT-281] | 45, (4

RrarER AT 98 gt # B a a9 Sk g
&1 P59 b 7 3R =/ S 1o R R &
x, 0 FEefe 2R g O, W w89 S 21
TaferT A FHEM 1 R

—o.mb% X,
o.na’ —amnb?

Xew =

el W, a=6cm, b =2cm, x, = 3.2 cm
—o xT(2)° x3.2

s'a'%'q' X =
P M T axax(6Y -0 xwx(2)
_ 12.8¢n _ _0.4em
32n
[NCERT-336]
[NCERT-326]
T o era Ve =V e
T cCHEras, Vi =Vol 1% 573
[NCERT-31]
| P1 |: ql
| Pz |: ql
| 9RO | = 2P cos 30°
3 - e
2ql(‘2f] = /3 ql(-]) = —/3q]]
[NCERT-68]
[NCERT 18]
E=tang@
E=tan60

F
[-- 999l m = tan & tanﬂ:; so E =tan @ ]

= danid.

[NCERT-281]
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Pressure at the bottom P = (hydh +h2d2) Crig

= (250 x1+250 x0.85] = 250(1.85] 2
cm

~462.5-9

cm2

[NCERT- 306]

1
Vi =V (1+ot) =0.5) 1+ —=x819

=2litre =2x103m?3

[NCERT-382]

AT T T
(L g A

2(d1 +d2) = V(t»] +t2)

330x(3+5)

dy+dp = =1320m

[NCERT-117]

W =F.5 =40 x8 xcos60° =160J

[NCERT-185]

3/2 3/2
Tmecury [rmercury } | 6x 1g'° 1
Tearth learth 1.5%x10""

(approx).

1
% Tmercury = 1 year

"4

e T =arg P = (hdy +hydy) Criz

=[250 x1+250 x 0.85] = 250[1.85] 3

cm?
=4625- 9
cm
a7. () [NCERT-306]
Vi = Vo (1+at) = 0.5 14— x819
273
=2litre =2 x10°m?
48. (3) [NCERT-382]
k a4, [+F} iy N
AN — VA AR N
2(d1 + dz) = V(t»] +t2)
330x{3+5
di+dy _B0%(E48) _sumin
49. (1) [NCERT-117]
W =F.5 = 40 x8 xcos60° =160J
50. (3) [NCERT-185]
3/2 312
Tmecury _ Tmercury _ 6x10'° _ 1
Tearth learth 1.5)(1011 4
(approx).

Tmercury = 2 year

NLI/8



CHEMISTRY

SECTION-A SECTION-A
5. (2 [NCERT-XII-I-12] | 51. (2) [NCERT-XII-I-12]
52. (1) [NCERT-XII-I-37] | 52. (1) [NCERT-XII-I-37]
Molar mass of C,H,0,=60g mol~' C,H,O, =1 3¢ %= =60g mol™'
Mass of benzene in Kg= B 5 x107°Kg EEIC] =5 _75%10°K
g 1000 a'T[ W = W = X g
25 2.5
Moles of C,H,0,= i 0.0417mol C,H,0, T Aafie = et 0.0417mol
0.0417 x1000 0.0417 x 1000
Molality of C,H,0, = ————"" C,H,0, % A = ——— - ==~
242 75 24Tz 75
=0.556Molkg™ = 0.556Molkg™
53. (3) [NCERT-XI-I46] | 53. (3) [NCERT-XII-I-46]
Chloroform + acetone show-ve Raeult's law FARER + T 3o & a7 ¥ ThRe fa=em
because CHCI, is able to form hydrogen bond with e ¥ FfF FREE wben & 9y E@A'EF-T
acetone. . ;
T T ¥ G B
54. (1) [NCERT-XII-I-79]
54. (1) [NCERT-XII-I-79]
Conductivity (K) & ———— qalEshed (Aehar) (K) o 1/ Tl FeT ST fEoar
(der) / (Fgheor)
L diluti g
{Molar Condctivity) o dilution ® Sonceniration (8TE TR o TTHT o 1R/ (e
(A) (e Fe S o)
55. (1) [NCERT-XII-I-102] | 55. (1) [NCERT-XII--102]
56. (1) 56. (1)
Both Statement | and Statement Il are incorrect YA | Bﬁ'( T || 3 e B
COOH COOH
O=H =H
Intramolecular Hydrogen Bond. AT S erESaT gy
™ OH
HO—C—@—O—HIIHluluO:C—@—OH HO_C_@_O_H”””””O=C_@_OH
Intermolecular Hydrogen Bond. .
R TR BTESIoH dY
57. (@ [NCERT-XII-I-174]

3Cu+5HNO, —— 3CU(NO,), + 2NO+5H,0
(dil)
4Zn+5HNO, — > 3Zn(NO,), + 2N0+5H O
(dil)

[NCERT-XII-174]
3Cu+5HNO, ——> 3Cu(NO,), + 2NO+5H,0

(dil)

4Zn+5HNO, —— 3Zn(NO,), + 2N,0+5H,0

(di)

NLI/9



58.

59.

60.

61.

62.

63.

64.

65.

66.

@ 58.

Both Statement | and Statement |l are correct.

(2) [NCERT-XI-1-15] 59,

4.4
=—=0.1
Moles of COE a2

Mol fH,O = ﬁfz
oles of H,0O = T
0.098
Moles of H,S0, = W:o.om
(1) 60.

Both Statement | and Statement |l are incorrect
O (on
I |

CH3 -C-0" &« CH3-C =0

(1) [NCERT-XII-I-251] | g4.
In octahedral complexes by level is of lower energy
than eg level.

(3) [NCERT-XII-I-305]
Halogens are ortho/para directing but deactivating 62.
groups in electrophilic substitution reactions of
benzene.

2

@ 63.

Si
| Gl Ol 20
SiC= b LelL= 1 !
s s e e e’
HHH
H NP4 o
H—C C c—H
AL(CH,)= Al Al H
N o N~ NS
H—C C C—H
H” A% NH
HpyH
- 1
3c-2e

4) [NCERT-XI1-110]

64.

SF_ molecule undergoes
SP3d? hydribidization Hence
Its shape is Octahedral

@) [NCERT199] | 65

Acidic strength of hydrogen halide is decreased
down the group.

Both Statement | and Statement Il are correct

4)
FY | R FUT 1 I = 2
(2) [NCERT-XI--15]

4.4
=== =0.1
CO,® et =7

36
:’722
H,0 & He =

0.098

H,S0, & #ia= ~og = 0001
(1)

FU | 3R F 1 A T B

0 lon
[l I
CH3 -C-0" «<3CHz - C =0

(1) [NCERT-XII-I-251]

FCHADT Fqel ¥ (1) F TR (eg) W ¥ F4
Fll I B 21

(3) [NCERT-XII-I-305]
B d9iiF & SAagithiora JAedTI grfharsi
¥ et 9 T A fftea i 2
(2
Si
[ Cln O AT
sic= © LCL= 1 !
s|/&|:,i\s| g e
HHH
H N\|/ A
H—c ¢ c—H
A s R NN
AlL(CH,),= H Al Al H
N 7 NS NS
— 0 ) CZH
H” TN\ “H
H 4 H
L H
3c-2e
@) [NCERT-XI-I-110]
SF, — SP3d?
ACHATIT
@ [NCERT 199]

FIEIH 2SS 3 SFIgET 998 A N T I
R Fgl B

(4)
FY | 3R FY9 1l A 9 2
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67.

68.

69.
70.

71.

72,

73.

74.

75.

76.
77.

78.

(2 [NCERT-XII-I-221]
Magnetic moment (i) = \/n(n+2)

Since the no. unpaired electron is hightest in 3d°
it has highest (u).
4) [NCERT-0-0]

For showing gcometical isomersim, both groups
attached with doubly bonded carbon must be
different.

4] [NCERT-XII-I-242]
(3 [Mod. CBSE]

After reaction with moist air AICI, gives fume of
HCI.

(3) [NCERT-XII-I-361]
Aldehydes (except HCHO) give tollen’s test.
(3) [NCERT-XII-I-179]

There are three HO-P bonds.
(2) [NCERT-XII-I-193]

Due to small size of f-atom, the electron affinity of
fluorine is less than CL,.

)

Both Statement | and Statement |l are correct.

O
I
/P\
HO L OH
(1) [NCERT-136)
According to boyles
PV =K
On increasing temperature, value of K also
increase.
(2) [NCERT-XI-I-337]
(2 [NCERT-0-0]

K=cell constant xConductivity

@) [NCERT-0-0]

a=atm xlitre*>xmol=

67.

68.

69.

70.

71.

72,

73.

74.

75.

76.
77.

78.

(2) [NCERT-XII-I-221]
THEEE S (1) = /n(n+2)
4) [NCERT-0-0]

ST ST REM & e SR 9UE A e
¥ 3 I TE ST - BN TR

(1) [NCERT-XII--242]

3) [Mod. CBSE]
9 9 & SR F AICI,, HCI ST ¢3T ST 21

(3) [NCERT-XIIH-361]
ofeserse (wieserss I Bee) T Oelg ¢&e <
7l

(3) [NCERT-XIIH-179]

0
I

H—O—pP—O—H
i
H

&l 99 HO-PSfT 1

@ [NCERT-XII--193]
TAN GO ® DI AFR F FROT FAA A
TSI SYET TN § FH B B

(4)

FO | 3R FF 1) IR ad B
0
IFI>

HO/|I_|\OH

(1) [NCERT-136]
aod & T & FgEn
PV =K
AT Fg TR KT 4 ¥ 729

@ [NCERT-XI-1-337]

) [NCERT-0-0]
11

a R

7 [NCERT-0-0]

a=argHesd A 2

NLI/ 11



79. (1) [NCERT-XI117] | 79. (1) [NCERT-XI-117]
AS:RH‘]E AS:Rm%
V, 1
80. (3) [NCERT-XI-23] 80. (3) [NCERT-XI-23]
Schottky defect geoht A
81. (1) [NCERT-XI-211] | 81. (4) [NCERT-XI-211]
Both temperature and pressure will change RG] T AT AR S @418 X, Y (g) 3 A
equilibrium amount of X_Y(g). T 951 B
Temperature changes value of equilibrium constant. STERF AT AT RS &7 W 9eedT 21,
82 M INCERT-M-0] gy (q) [NCERT-XI-0]
Forfirst order reaction. qo i R
2.303 a
t:Tlog— t:—2'303 Iog—a
A= K a-x
2.303 5
t=—4|og_ t= 2.303 |Og§
1.15%10 3 115%x10~3 3
t = 444 seconds. t = 444 VS
83. @ [NCERT-XII-211] | g3. (2) [NCERT-X1I-211]
8. (1) [NCERT-XI0] |(84. (1) [NCERT-XI-0]
Spin magnetic moment = /n(n +2) =+/24 TR FEET A= \n(n+2) = /24
= n =4 (No. of unpaired electron) = n =4 (FYRTT TG G )
Fe?* = 1s, 252, 2p®, 3s2, 3p°, 4s°, 3d° Fe?* = 1s", 2s?, 2p®, 3s?, 3p?, 4s°, 3d°
85. (3 [NCERT-XII-238] | 85. (3) [NCERT-XII-238]
SECTION-B SECTION-B
86. (4 [NCERT-X1-332] | 86. (4) [NCERT-XI-332]
Naphthalene has 10 r electrons ARIRA 9 X 10 n gl B 2
87. [NCERT-XI-195] | 87- (3) [NCERT-XI-195]
An=2-2=0 An=2-2=0
- An
K, = K (RT)" K, =K. (RT)
~ K, =K,
~ K, =K,
88. (1) [NCERT-XII-I-296]
83. (1) [NCERT-XII-1I-296] SRR e Srad s e
Order of SN2 reaction in halides A 2
10520530 19520530
89. (2 [NCERT-XI-0] | g89. (2) [NCERT-XI-0]
1s2=He = Highest IP, 1s2 = He = e P,

1s?, 282, 2p =F = Highest electronegativity

1s?, 252, 2p°%, 3s?, 3p® = Cl = Highest electron
gain enthalpy

1s?, 282, 2p?=C = Highest negative

oxidation state

182,282, 2p° =F = Joaa¥ [9=[d HIMHhdl
182, 252, 2p°, 32, 3p° = Cl = I=aa¥ Joiagi wliel
Ty
= ITTH EMIRETD
TR R

182,282, 2p2=C
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90.

91.
92.

93.

94.
95.

96.

97.
98.

99.
100.

@) [NCERT-XI-0]
Both Statement | and Statement Il are correct.
1) [NCERT-XII-433]
M NCERT-XI-38]
Weight of NaOH =4 g
MW of NaOH=40g

Volume of soultion = 4.5 dm?

- W _ 40
MW x V()  40x45 ~ -
@ [NCERT-XI-161]
An=2-4=-2

An = AE + AnNRT
An=AE-2RT
{ An=numbers of gaseous product molecules)

{ An=numbers of gaseous reactant molecules
(3) [NCERT-XI-393]
(1) [NCERT 202]
O,F, is used for removing Pu and ICl, is used for
the enrichment of U.
(3) [NCERT-XII-143]

Zeta potential or electrokinetic potantial is potantial
difference between fixed layer and diffused layer
of opposite charge.

@ [NCERT-XI-11-402]
1 [NCERT-XII-Il-414, 416]
CHO
H —— OH
HO —*H
H — OH
H —* OH
CH,OH H Ol
D-glucose o-D-glucose

Stereocentre =5

Stereocentre =4
(1) [NCERT-XII-1-418]
(2) [NCERT-XII-I-447]

90.

91.
92.

93.

94.
95.

96.

97.
98.

99.

100.

(4) [NCERT-XI-0]
F | 3R o 1) S w2

)] [NCERT-XII-433]

4] [NCERT-XI-38]

NaOH=T ¥R =4 ¢
NaOH =T 3R =40 g
fae@= =1 e = 4.5 dm®

= Wig) = =0.022
MW x V() 40x4.5" ™

(2) [NCERT-XI-161]

AnN=2-4=-2

An = AE + AnRT

An=AE -2RT
(3) [NCERT-XI-393]
(1) [NCERT 202]

OF,® Pu® BH & fow @ ICLH US
AT % gy @ 21

3) [NCERT-XII-143]

St fave a1 aagenies fava fer wa ik
fadiT s =i fRRa w=a & 9= el o 2

@ [NCERT-XI-1-402]
M [NCERT-XII-II-414, 416]
CHO
H —— OH
HO ——H
H —— OH
H —— OH
CH,0H
DI
AP = 4
0 [NCERT-XII-11-418]
(@) [NCERT-XII-I1-447]
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BIOLOGY

PART-1 (SECTION-A)

101. (1)

102. (2)

103. (2)

104. (3)

105. (4)

106. (4)

107. (4)

[NC-1-9]
Statement -I- Genus comprises a group of related
species
Statement-1I-Order comprises a group of related
family

[NC-I1-22]
Statement -I- Fungi are cosmopolitan and occurin
air, water, soil and on animals and plants.

Statement-1I-With the exception of yeast which are
unicellular, fungi are filamentous.

[NC-lI-146]
Statement -I- Disease can be broadly grouped into
infectious and non infectious.

Statement-1I-Among non-Infectious disease cancer
is the major cause of death.

[NC-lI-169]
Statement -I- Apiculture is the maintenance of hives
of honeybees for the production of honey.

Statement-lI-Some of the marine fishes that are
eaten include - Hilsa, Sardiness, Mackerel and
Pomefrets.

[NC-11-241]

Statement -I- Forest, grassland and desert are
some examples of terrestrial examples.

Statement-llI-Pond, lake, wetland, river are some
examples of Agquatic ecosystem.

[NC-II-258, 259]
Statement -I- The western ghat have a greater
amphibian species diversity than the Eastern
ghats.

Statement-Il-In our biosphere immense diversity
exists not only at the species level but at all lavel of
biological organisation ranging from
macromolecules within cells to biomes.

[NCA1-279,280]
Polyblend - Recycled modified
plastic
Bitumen and - Used in lay roads
polyblend
Haryana Kisan - Ramesh Chandra
welfare Dagar

MAT-1 (€9E-A)

101. (1) [NC-1-9]

o -|- 99 § GHElee SIfal F1 T 99E A €

FUH-11-3T ¥ THAFUT BT T T WE A6
[NCH-22]

FYA -I- Fols Azt # 3 3 &4, o, fed
TN W O el T 9 A R

FUH-II-R T T @ A A W o i
2| THH AT B

102. (2)

103. (2) [NC-1I-146]

FY -1- AT T A TN R GHEAE 3N SERIE SRl
¥ STeT S w2

- ||-FEHIE AT D q F TG FROT 2|

104. (3) [NC-1I-169]

FU -I- OiiFeeR W8T & Joued & forg el
& TN A TEEE B B

FY-11- 9 woforl oY - fRern, AR, e
3R TFhed B 21

105. (4) [NC-1I-241]

FUF -I- S, T D A T TS IR F7S
TNy TIRa & JeE B

FF-11-E, T, TEee 8, Al Sy Ra

& JERT B
106. (4) [NC-1I-258, 259]
M - |- af¥erlt "1 S SR st 0 fafear gt
e ¥ AftrF 2

FA-IIEAR e ¥ 9 Fgd T "R W A
g EET F T R FIHSA & Jod I ¥

AH WM a9 Tga fafaemr Fe 21
107. (4) [NC-11-279,280]
eeE
S © o o oA = o L
«  oRaon fFaE Feer - @ O IR
T
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108.

109.

110.

1M1,

12

113.

114.

115.

4

@

@)

@)

@)
M
2
(3)

4

@)

[NC-11-239]

Statement -I- Population grow through births and
immigration and decline through deaths and
emigration.

Statement-1I-In nature population of different species
in a habitat do not live in isolation but interact in
many ways.

[NC-II-228, 229]

Statement -I- In exponential growth unlimited
Resource (food and space) availability is obviously
essential for the unimpeded growth of a population.

Statement-lI-Mortality is the number of deaths in
the population during a given period.

[NC-lI-212]
Statement -I- Animals that have had their DNA

manipulated to posses and express an extra
(foreign) gene are known as transgenic animals.

Statement-l-Presence of pathogen (bacteria, viruses
etc) is normally suspected only when the pathogen
has produced a disease symptom.

[NC--207]
Use of microorganisms for the disposal of pollut-
ants is termed as bioremediation

[NC-lI-212]

Early diagnosis possible — PCR
Conventional methdos  — Urine Analysis
of diagnosis

Early diagnosis possible — Recombinant

DNA technology
[NC-lI-261]
The Biodiversity of Amazonian rain forest are
Plants — 40000 species
Fishes — 3000 species
Amphibians — 427 species
[NC-1-267]
The Earthsummit — Riode Janeiroin 1992
World summit — South Africa in 2002
Seed banks — Exsitu conservation
[NC-11-42,43]
Diplontic life cycle - Ficus, Fucus
Haplodiplontic life cycle - Funaria
Diplontic life cycle - Pinus

108. (4) [NC-1I-239]

T -|- T T ST ST & Sg B 1 T 9
3R I ¥ Hedl B
-1 geRf ¥ Ry Siferll o it ser 3 goren
T wA afew 1 TE ¥ gReiE R w1 2
[NC-11-228, 229]
Fo -|- TR g ¥ Ford T o st afe
F fou wed: sbifT gEerE (SER 3R T
IUAR] BT A B |
FyH- IR foreY o wafte & < TR arafer 9 8 9
H a7 |
110. (4)

109. (2)

[NC-1I-212]
FYF -I- ¥ g oew DNAY R s v
SHaRed (AEY) S Jaftad 2ar 21 | 9T v
o FR 21 I RO S Fed 2

FH-II T (e, ey snfe ) & Sufeafy
HRIFAT 99 4T Ferdl & | 9 399 8 390 9T &
e e 3 W 2

1. (3) [NCERT-I-207]
s & Rediorer ¥ gEonal H1 TART FEan 8
AEIRARYE

112. (4) [NC-1I-212]

(1) AWM A IRFPF RIS - PCR
TR 2

(2) IUAR F TERE - 7 faweor
fafbrf

(3) WM T I™F EEE - REmemw
TG B DNA TS

113. (4) [NC-1I-261]

3RS aut 9 it o9 ffdear
« Ry — 40000 it
- Asfort — 3000 ST
+ IR — 427 R

114. (1) [NCH-267]

(2) T T —  1992% R & SR
(3) Fwa w=ie= — 2002 =T S
4) & =% —  9IEY W 9
115. 2) [NC-11-42,43]
RIESK)

BRI Wad 9% - HgERaT

NLI/15



17. (3)

118. (1)

119. (4)

120. (1)

121. (1)

122. (3)

123. (4)

Thorn, phylloclade, cladode, stem tendril are

modified stem.
117.
[NCERT-I-46, 47]

(a) Body symmetry is a basis of classification.
{b) Allmembers of animalia are multicellular.
(c) Division of labour starts from porifera

(d) Arthropodes show bilateral symmetry.

118.
[NCERT--36-38]

In pteridophytes the sporangia produce spores by
meiosis in spore mother cells. The spores
germinate to give rise to inconspicuous, small but
multicellular, free-living, mostly photosynthetic
thalloid gametophytes called prothallus.
[NCERT--105]

The statement is correct for cardiac muscle of hu-
man
Communication junctions (intercalated discs)
present

Itis involuntary 120

It is myogenic
[NCERT4-111,112]
The correct statement for cockroach:

(@)

In each segment, exoskeleton has hardened
plates called sclerites

(b)

Body is segmented and divisible into three
distinct region

(c) Maxilla is a mouth part

(d) 7" sternum of female cockroach is boat shaped

119. (4)

A, fbeeiarts, Forte, 2fee - @9 o1 w9
(3) [NCERT--46, 47]
() TR TWRIRY & TR T FT MR 2
(b) GAAfeEr & a¥ Goe agREg §
(c) * e AR | IR B 2
(d) smdigw fagred wfle yeffia o €

(1) [NCERT--36-38]
B & WG A & AT I, ST, THE
Aol 3R AT JFINeTE dES IR
N & S FEdE B - gEEERT T
[NCERT--105]
I & g 9 & fog 98 e @
(1) FgHHIE 9y (TetEcs e ) Tt o @
(2) uE FHo® B 8
(3) TE AN B B
(1)
i & forg @ @y 2 -
(a) TF e ¥ AT FHA Tord TERHT A 2
e #6% F8d 2
(b) TR @ut ¥ ey BT | T @R A T qR
B 2
(c) Hirgel v T I 2
(d) HIeT AT & 74 3eRF 1 & 9XE BT B

[NCERT4-111,112]

121. (1) [NC-1-103,104]
[NC-1-103,104] FUT -1 :
Statement |: .
T U e aNil S 2l
Blood is a fluid connective tissue.
S -l
Statement Il : ‘
Cartilage is a specialised connective tissue S 7 | Yer] R ¥ irefl e &
122. (3) [NCERT-I-88, 89]

[NCERT-88, 89]

Trichomes, hairs, stomata, etc. are included under
Epidermal tissue system

[NEET-2016, NC-1-96]
The balloon - shaped structures called tyloses are
extensions of xylem parenchyma cells into vessels

123. (4)

TS, TR, T, 31fe SO Feeh & & sFeria
I E
[NEET-2016, NC-1-96]

TEERT A1 G0 o Trgeee ded 8, 98 8 e
JLFTEAT I T AT & vFHea B
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124. (4)
(1)
@)
3)
)

125. (1)

126. (4)

127. (2)

128. (3)

129. (3)

[NCERT-II-86,87,88]
Vessel — Non living
Tracheids — non living
Sclereids — Sclerenchyma
Companion cells — Special parenchymatous cell
[NCERT-I-159]

Protein portion of the enzymes is called the
apoenzyme. non-protein constituents called
cofactors Three kinds of cofactors may be identified:
prosthetic groups, co-enzymes and metal ions.

Holoenzyme = Apoenzyme+ Co-factor
Holoenzyme = Apoenzyme + Co-enzyme
Holoenzyme = Apoenzyme + Metal ions
Holoenzyme = Apoenzyme + Prosthetic group
[NCERT--260,261]

Gall bladder is not a digestive gland.

Gall bladder — Cystic duct
Liver — Hepatic duct
Salivary glands — Three pairs
Liver — Largest gland of Body
Bile — Secreted by hepatic
cells of Liver
[NCERTA-265]

Peristalsis, churning movements = Involuntary
process

[NCERT-I-128-135]

Mesosome and cristae of mitochondria increase
the surface area. They help in respiration and they
are analogous structure.

[NCERT-I-136]
70S = Prokaryotes
808 = Prokaryotes, Eukaryotes
70S = 50S + 305
80S = 60S + 40S

Trypanosoma = Eukaryotes

124. (4) [NCERT-I1-86,87,88]
(1) Few - Feila
(2) gAs — sl
(3) TS — TheRAHTE

(4) TR FREN — ffire Rewgics FfEER
125. (1) [NCERT4-159]
BRIC=ogd = TNY=AEH + A WA AT
TGS = WEH W
A GIEF R = GEHRE
WEHRF A TR D B 8

ey, redfesh e, utg S

126. (4) [NCERT-I-260,261]
fireamer aree w8 8

a. e - e Ao

b. Fehd - ¥ AR

c. WR U - O

d. I — TR ) 99 99 9y

e. = - I%d I Bt

FIRT SR G BT 2

127. (2) [NCERT--265]

FHAR A, AT Y = sFRReE e
[NCERT-l-128-135]

TrRaicE & AAER AR AEerRir A e &
& A ©

a. qd8 &%l HI 9l
b. T99 ¥ GEFET AT

128. (3)

d. 9o ®9 9%
129. (3)
70S = U itacy
80S =T facE, gHkaicE

70S = 50S + 30S

[NCERT-1-136]

80S = 60S + 408

feder = g
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131.

132.

133.

134.

135.

Endodermis Xylem

Symplastic
path

Caspartan | Phloem
strip

pericycle

Apoplastic

path Cortex

(i) A—help in water transport

(i) C—Impervious for water

(iv) B—inner boundary of cortex
(1) [NCERT-I-163]

Human cell cycle duration is 24 hour

Yeast is 90 minutes

Total number of cell cycle completed in 24 hours

_ 24x60

==am =

16

@
7% CO, —dissolved in plasma.
[NCERT-I-272 to 275]

As the solubility of CO, is 20-25 times higher than
that of O,, the amount of CO, that can diffuse
through the diffusion membrane per unit difference
in partial pressure is much higher compared to that
of Q,.

Blood is the medium of transport for O, and CO.,,
About 97 per cent of O, is transported by RBCs in
the blood. The remaining 3 per cent of O, is carried
in a dissolved state through the plasma. Nearly
20-25 per cent of CO, is transported by RBCs
whereas 70 per cent of itis carried as bicarbonate.
About 7 per cent of CO, is carried in a dissolved
state through plasma.

(@)

The feature are similar among

[NC-1-274]

@

[NC4-176-179]

Imbibition, Diffusion, Osmosis.

a. Allare passive process

b. All are downhill process

[NC-1-166]
— Simple precursor of middle lamella is cell-plate

— At the time of cytoplasmic division organelles like
mitochondria and plastids ge distributed betweens
the two daugther cells.

— Inan animal cell, this is achieved by the appearance
of a furrow in the plasma membrane.

o 1.7 519 U WA % s 19 uieiEs v a9 92 T YEw

(i) AT & IRae ¥ GemEEar FET 8
(iii)y C-1eF & forg SRy
(iv) B-aehe @ SR G &
131. (1) [NCERT--163]
AT FIET wF H 3y 24 908 B B
Aiee %t 90 fFe 2F 21
A § 24 g2 ¥ 1w FfE T N GE@=@=

24 x60
a0

16

132. (4) [NC-1-274]

7% CO, — s ¥ gfera

133. (2) [NCERT--272 to 275]

T 4 CO, 3 o & Fry srEF 4 ek

B S &

CO, T ¥ faafRa & o 2 3k RBCs ¥ Wt H,0

& ar foRar e H,CO, &1 8

FARIES AR A & [S@RT Bt RBCs # S

Frafe dow i Tl F §

TN 20-25% CO, T & SN IRTe 8l &
134. (4) [NC--176-179]

= IooT, FEETer, WEKT & S 96 A
a. & [Aftwg yehiar 2

b. i IEART w8
135. (4) [NC-1-166]

— TRfSe oFee Ue AR T AT § RS BT B
o FifarrT wefes Faa &

—> iR fEe % T I ST S e
(FrEcrIfzar) 3 as i < wafa e ¥ e
B o R

— YUt IR FT Ao STl ¥ U @ a7
¥ 9o~ B B
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136.

137.

138.

139.

140.

141.

142.

143.

144, (4)

4)

@
@

@)

0
(2)
)

(1)

(1)

@

[NC-1-165-166]
Given diagram represent telophase stage of mitosis
Formation of synaptonemal complex — Meiosis |
Metaphase — Spindle fibres attach to kinetochores
of chromosomes. Chromosomes are moved to
spindle equator and get aligned along metaphase
plate through spindle fibres to both poles.
Events belongs to anaphase
Centromere split and chromatids separate
Chromatids move to opposite pole
[NC-I-164-168]
Synapsis, crossing over — meiosis
[NC--197]
Plants obtain sulphur in the form of sulphate
(80,%). Sulphur is present in two amino acids —
cysteine and methionine and is the main
constituent of several coenzymes, vitamins
(thiamine, biotin, Coenzyme A) and ferredoxin.

[NCERT--196]

Essential elements that activate or inhibit enzymes,
for example Mg? is an activator for both ribulose
bisphosphate carboxylaseoxygenase and
phosphoenal pyruvate carboxylase.

DNA polymerase
RNA polymerase
[NC-1-219,220]
All given enzymes are present in C, plants.
[NCERT-222, 223]

Oxygen would not be a normally a limiting factor
of photosynthesis :

[NC -1217]
Carboxylation, Reducticn and Regeneration
[NCERT-I-282]
3-chambered heart — Amphibia, most reptile.
3-chambered heart — Two auricle one ventricle
4-chambered heart — All mammal, all birds,
crocodile.
[NCERT-I-288]

Statement I:

Angina can occur in men and women of any age
but it is more common among the middle-aged and

elderly.
Statement Il :

Coronary artery disease often referred to
atherosclerosis ,affects the vessel that supply

blood to the heart muscle.

136.

137.

138.

139.

140.

141.

142.

143.

144,

) [NC--165-166]
faar war o e fnviem & svaamaen @1 2
e Hier afeTsr &7 FAefor - ST e oW
e TEEEE ¥ galtd &

(1) TR a2 € i s e &
EInk ]

(3) FFEORA 9T ya 1 FR T A 2

2 [NC-1-164-168]
TR g, fafae - st e

4 [NCERT-1-197]
TR TeT O S R BRSEEN & Ay -aM
TEifes % +f femr 2

4 [NCERT--196]
Mg* I &

PEPcase
RUBISCO
DNA dfefrst
RNA gfeiRRst

4 [NC-1-219,220]
2 T B T ¢, I F 3ufer #)

N [NCERT-222, 223]
eRTe AT I TR RIS 9 S R
T &

(1) [NC-1217]
FaiarereH, Resam T Raam

2 [NCERT--282]

a. 2-%%9 g<d . ERIR

b. 3-FET gl ~ T 3l 3K v Fe

d. 3-FEFgHd ~  VARRR 9999, 39T

(4) [NCERT--288]
Y -1:

TSl A A1 EY O A TR T SH A o a2
QA TeATIR T JETIET ¥ T AR B B
Sy -l

&< el R T I TR & € # wefia
forar < 2 fomd o9 U9 1 w9 i amgi F e
arelt afefaET wenfae B 2
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145. (2) [NC-1-283]

Quter covering of heart is pericardium.

Pleural membrane — lungs
Mesoorchium — testis
Piamater — brain

146. (2) [NC-I-247]

Diagram related with Auxin discovery

147. (1) [NC--292]

Afferent
arteriole

Efferent arteriole

Proximal
convoluted
tubule

T~ Distal
convoluted
tubule

Ascending limb

Descending imb

of loop of Henle
Henle's loop

of loop of Henle

+— Collecting duct

Figure 19.3 A diagrammatic represeniation of a nephron showing bleod vessels,
duct and tubule

148. (4) [NCERT-1-232]

Pyruvate
(3C)

Acetyl coenzyme A
2c

‘Onxaloacetic acid
: (40) Citric_acid

2
NAD*

NAD"

utaric acid
Malic acid CITRIC ACID CYCLE 4(5C)

c)

FADH,;
FAD™
ceinie acids

(ac)

co,
NAD*

149. [NCERT-XI-229]

2)
Glycolrsis, a chain of Ten reactions, under the
control of different enzymes

150. (4) [NCERT-XI-253]

Seed coat barrier in some dormant seeds can be
broken by Mechanical abrasions, Sandpaper
abrasions and Microbial action

PART-2 (SECTION-A)
[NCERT-I-206, 207]

151. (3)
Due to absence of sun light proper chlorophyll

molecule are not formed. It is called etiolation.

145. (2) [NCH-283]

2o & 98 ST TIIEON HEd B

146. (2)

3 siferad &7 @i @ g #
147. (1)

[NCH-247]

[NC-1-292]

FATE] WHTTE

- HUE A

fam 19.3 T afefal, arfefrd oo Ffew =i F@ 10 & T5H

148. (4) [NCERT4-232]

mtm

Tife® fﬂfﬁﬁﬂ'ﬂiﬂ?_ 15C)

“o

FADH,é\
I4Cl

forr 14.3 fafew s =W

co,
NAD*

an

149. (2) [NCERT-XI-229]
wESeEaE, A oo @ fFaew ¥
IR A T s 21
4

150. [NCERT-XI-253]

T YA Sl B AT Ao 6] iIFF TE 9,
F=YR WE ¥ AR SNl & v & dier o 8

YRT-2 (EUS-A)

[NCERT-1-206, 207]

THACK & U S AT 3T R A W I 7|
fr & a1 g% wm T B 3 W% O 9 et 3
TE B I & 56 fow 2fedieies = & 1A o

151. (3)

#)
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152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

)
M
2
(3
)
@

@)

3)

@

4)

@

()

4

3)

@)

[NCERT-I-5to 9]
Synergid — gametophyte
Antipodal cell — gametophyte
Nucellus — sporophytes
Tapetum — sporophytes
[NCERT-II-22-34]

Endosperm - polyploid

Microspore, megaspore, pollen grain, generative
cell, vegetative cell, synergid, functional megaspore
-haploid

MMC, PMC, zygote, nucellus-diploid.

[NCERT-II-8 to 11]

One embryosac = One egg cell + two synergid +
One central cell + three antipodal cell

[NCERT-I-310,311]
Coxalbone - Pelvic girdle

Pelvic girdle are included in the appendicular
skeleton

Total fore limbs bone - 60

Total hind limbs bone - 60

Clavicle, scapula - Appendicular
skeleton

[NCERT-I-303]
Statement |:

Some specialised cells in our body macrophage
and leucocytes in blood exhibit amoeboid movement

Statement Il :

Ciliary movement occurs in most of our internal
tubular organs which are lined by ciliated epithelium

[NCERT-I-309 to 312]
All given bone are included in appendicular skeleton.
[NCERTHI-10]

Gametes are morphologically similar or dissimilar
but always physiologically different.

Isogametes means similar morphology.
[NCERT-I-145]

Trigylcerides are a type of fats
[NCERT--48]

Itis the character of pseudocoelom
Example : Member of phylum aschelminthese
Ascaris, Anchylostoma

[NC4-71]
Itis character of opposite phyllotaxy
e.g. Calotropis, Guava.

[NC-I-26, 27]
Viroids — Only RNA
Prions — Only proteins
TMV — RNA and Proteins
Virus — Either DNA or RNA

153.

154.

155.

156.

157.

158.

159

160.

161.

162.

[NCERT-1-22-34]
hifreT, TRameier % SV, FeT HifEHT = 2EE
MMC, I, AIveEhE, PMC = Rwias
YO = 3
) [NCERT-II-8 to 11]
UF YUY =3 TRINISA FIRE + 1 USRI
+ 1 T FIRHET + 2 FERT DI

[NCERT4-310,311]
60

@
(1) FA SIE AR -
(2) @t 9TEUE HiRY -
Feldichel, T -
4
Y -1:
IR TR ¥ o ffire Afmr 8- dwe i
ehiaEe ®iR ¥ sREiE TfY yeffT w2
Y -1l
TR SRS AAferehTehR 37 &, S JeAn Jufdifed &
AR Bl 8, TeA™T T B €
[NCERT-1-309 to 312]
T & T A e e A wfERfe 2
[NCERT-I-10]

60
JIETT HFhA
[NCERT--303]

@

@
eE FiE ¥ 999 78 29 7
ied Rk 3 T o & 9 81 3T A
BEELEL

4)

2 o foftgw 2

C))

HieH et g 3o - T
HEIET - TEhe e
EhRfca e - TR, GRRIgARe T

@3 [NC--71]
7 w7 gl fheeiidard &1 2
I - PG, IFTET

4
fage —%9d RNA
o3 saer TEA
TMV — RNA 3 9187
fToy —a1 S DNA 3o/ RNA

[NCERT--145]

[NCERT-1-48]

[NC-1-26, 27]
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163.

164.
165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

4 [NC-142]

Zygotic meiosis is characteristics feature of
haplontic life cycle.

Spirogyra = Haplontic life cycle.

)]
(&)

[NC-11-83]
[NC-1-127]
For a long time it was also believed that life came

out of decaying and rotting matter like straw, mud,
etc. This was the theory of spontaneous generation.

[NC-lI-135]
Evolution for Darwin was gradual while deVries

believed mutation caused speciation and hence
called it saltation (single step large mutation).

[NCERT--137]

3)

4

The given diagram is neuron
(1) A-Transmites impules towards the cell body.
2
(3)
(3)
(@)
(b)
()
(d)
3)

C — Form a myelin sheath around Axon

D — Transmites impules Away the cell body.

[NC-1-338]
IP, is a secondary messanger

Cortisol is a steroid hormone
RAAS not secretes glucocorticoids
TSH is secreted by pituitary gland

[NCERT-I-120]
SNPs = Single nucleotide polymorphism
2) [NC-1-80]
Persistent calyx are feature of solanaceae family.
e.g., Tomato, Brinjal, Petunia.
[NC-1I-272, 274, 283, 284]
Water act - 1974
Environment Act — 1986
Montreal protocol 1987
National forest policy 1988
4) [NCERT-l-187]
Less than 1 per cent of the water reaching the
leaves is used in photosynthesis and plant growth.
Most of it is lost through the stomata in the leaves.
This water loss is known as transpiration.
[NC-1I-279 to 283]

(1)

@

. Radiation, that is given off by nuclear waste is
extremely harmful to organisms.

[NCER-II-194, 195, 197]
The feature of the plasmids are

4

(1) Transferable

(2) Independent replication

(3) Circular structure

163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

(4) [NC-1-42]
TR 3 A FasTeH @i AT Svellieed Siiae
T HT BT B

IR - REER JEe
&) [NC-11-83]
forher - Tmeet o0 Y Tee & Tromil ¥ T4 T
2
%)) [NC-11-127]
@ S 1 R aftia @ 2 & Sie Saw

Froite & o= B B
(3

[NC-II-135]
IaRade & ford |eeam w5 gRN & 9+
4) [NCERT4-137]
fear T Forr = & 2

A —3ZE9A Y FIRIET FT F T AR AT 2

C—TFM & I/ 3R B JE0T SR 2|

D — aRhi S i i w1 ¥ T AT 2
[NC-338]

IP, ve fgdfiger deorare 2

(b) FICTHE T TGS BWA &

RAAS T[S ISIETRISE T FIE9T 781 el 3

(d) TSH faeged s & srr @ifaa et 2

&) [NCERT-lI-120]
SNPs = Single nuclectide polymorphism

@ [NC-1-80]
et wfeed - dema
FeTE - e, i, fefar

4] [NC-11-272, 274, 283, 284]

a. & R - 1974

b. arg T ~ 1981

c. A feaH - 1986

d. dieaa dermta ~ 1987

e. TR a9 AT - 1988

@ [NCERT4-187]
9l TF e § o A 1% ¥ T 9w WR
YT FIITY AT 9IS g F g ST &

3) [NC-11-279 to 283]
- R R A Perem g R el &
foT J5e JFares BT 7

@ [NCER-11-194, 195, 197]
SIS T 0T B

(1) TR & Qg

(2) Td=7 i

(3) T T
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175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

@)

(3)

3)

@

3)
@

(1)
3)

@

(1)

4

[NCERT-lI-196]
The conventicn for naming these enzymes is the
first letter of the name comes from the genes and
the second two letters come from the species of
the prokaryotic cell from which they were isolated,
e.g., EcoRI comes from Escherichia coli RY 13. In
EcoRl, the letter ‘R’ is derived from the name of
the strain.

[NCERT-lI-201]
The RNA can be removed by treatment with
ribonuclease whereas proteins can be removed by
treatment with protease

[NCERT-lI-195]
This specific base sequence is known as the
recognition sequence for Hind Il. Besides Hind I,
today we know more than 900 restriction enzymes
that have been isclated frem over 230 strains of
bacteria each of which recognise different
recognition sequences.

[NCERT-I-202]
The correct sequence of PCR
— Denaturation, annealing and extension

[NCERT-II-100]
Transforming principle given by Griffith

[NCERT-lI-99]

The nucleosome in chromatin are seen as beads -
on - string

[NCERT-II-104]
The first genetic material is RNA

[NCERT-II-118]
99.9% DNA base sequence among human beings
is same.

[NCERT-II-106]
Very similar experiments involving use of radicactive
thymidine to detect distribution of newly
synthesised DNA in the chromosomes was
performed on Vicia faba (faba beans) by Taylor and
colleagues in 1958. The experiments proved that
the DNA in chromosomes also replicate
semiconservatively.
[NCERTII-98]

A=T (betweenAdenine and Thymine, Two hydrogen
bond present)

G = C (betwen Guanine and Cytosine, Three
hydrogen bond present.
[NCERT-I-92]

Female gamete Male gamete

® ® ® O
& ® & &

It is normal fertilization

Female gamete Male gamete

&0 ® O
Abnormal OVUM
G2y

2

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

4

R =$0UH0T0 Y¥T &1 9
(3)

[NCERT-II-196]

[NCERT-II-201]

DNA & e & 309 RNA 3R 9189 9T & 8@
ST 21 RNAse 3R 9183 @ qadid s

[NCERT-II-195]
9o e TRRgfaees & R 900 & s
3T YiEU OWIgd 3 I 2
2

)

[NCERT-II-202]

et sjwaen sifviferar & e o S B A e
& A

— MR, aardie 3k 18R
3 [NCERT-II-100]
TR e fear &7 R g
2 [NCERT-11-99]
AN R T feEr Ted 1 2% ) dieE
TE

(1)
T AR 9ard & RNA
3

[NCERT-II-104]

[NCERT-I-118]
wal # 99.9% DNA &R 3T 99 B 2
[NCERT-II-106]

W 3R I wefmEl A 1958 ¥ yENT fRar 6
faférar e W R e Aieg FE @ R fr vfasfee
e 2

N
A=T3HX G=C

)

@

[NCERTII-98]

[NCERT-I-92]
ST R T IR
® & © O

& XD & &
g 9 s 2

&0 ® ©
ammmai]?ﬂ_\/—
& &
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186.

187.

188.

189.

190.

191.

192.

193.

194.

PART-2 (SECTION-B) HRAT-2 (ﬁﬂgB)

4 [NCERT-II-71] 186. (4) [NCERT-II-71]
Axial, Tall, Inflated = Dominant Trait ey, =T, ﬁaﬁ =qE fiRivs
Pod colour = Characters Tl &1 W = AU

(1) [NCERTHI-79] | 187. (1) [NCERTAI-79]

cle ® ®
D o 5 ® ®
@ TrRr | Ttrr | ttRr ttrr
@ TrRr | Ttrr | ttRr | ttr
Tall Tall Dwarf Dwarf
red white Red  white o o= 9 T
25% 25% 25% 25% IS WHE o Weg
25% 25% 25% 25%

(2) [NCERT-11-91]

Absence of one of the X chromosome in female is | 188. (2) [NCERT-II-91]
Turner’s syndrome. Such females are sterile as
ovaries are rudimentary. i v At ST IS F RO AT

@) [NCERT-I-83] 21 9 38 oo e #

The term "linkage" was coined by T.H. Morgan 189. (3) [NCERT-II-83]

@ [NGERT-Il-224] W Rt e o omi SowEo AR F 3W
Heat loss or heat gainis a function of surface area, | 490, @ [NCERT-I-224]
since small animal have alarger surface area relative ; i Sy 2 3
to their volume, they tend ?o lose body heat very EI% st 2l il

L . FTET SIS BT § ZEleig 99 9T 5% B & @ 3%
fast when it is cold outside . A EUPAES a2

4) [NCERT-II-45, 46] & ik l

g : 191. (4) [NCERT-II-45, 46]
The given diagram represent tubectomy
It is sterilisation ﬁ?IIT T E -
Itis a type of contraceptive method. @)

) [NC-11-60 to 64] (8) T TR T T
The correct statements for STls 192. (1) [NC-11-60 to 64]

(a) STIs are may be curable and may be non curable STls & forg @t Femt 2

(b) Early symptom of most of these are minor and () STIsITHR I & Fehell 2| SFEl TGSl B Fehell
include itching, fluid discharge, slight pain, swelling #
etc in the genital organ (b) T M & JEIMN AV T8 Boh - Fooh B =

(c) Infected females may often be asymptomatic and S T Elal ¥ gp 5%"' TA AT A, T T T
hence, many remains undetected for long = T S ) : .

(d) STls are a major threat to a healthy society. (©) ; T Sl _a Bl ] S

3 e D FHA & AT YHT el B & 3N Fh(IY o 99

) [ 187 Tqh IThT 941 81 = Il
An example of microbial biocontrol agents that can

: . _ (d) STis Ty e & forg @aq 8
be introduced in order to control butterfly caterpillars
; ; . s ; 193. (3) [NCERT-II-187]
is the bacteria Bacillus thuringiensis (often written )
GG o TS, e &l FafFaa we |
as Bt ). v 3

@) [NCERTA1-28] | 7% ST A
The given diagram is Diagrammatic section view of 194.2) [NCERT-II-28]
ovary e T R siverE & RE e H O g
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195. (4)

196. (3)

197. (3)

198. (4)

199. (4)

200. (1)

[NCERT-lI-42]
Gametogenesis = Both male and female
Spermatogenesis = Male
Qogenesis = Female
[NCERT-11-47 to 51]

Mammary lobes - 15-20
Menstrual cycle - 28-29days
Menstrual flow - 3-5days
Ovulation - 14-15"day

[NC-I1-247]
Each trophic level has a certain mass of living
material at a particular time called as the standing
crop. The standing crop is measured as the mass
of living organisms (biomass) or the number in a
unit area. The biomass of a species is expressed
in terms of fresh or dry weight.

[NC-lI-248, 249]

The base of pyramid is represents primary producer

as well as we move from base to apex consumer of
different order are placed.

Here in question deferent data of biomass are given
with respect to producer and consumer.

According by given data the upright pyramid of
biomass are obtained.

[NCERT-II-188]
Statement [:

AIDS is caused by the human Immunodeficiency
virus (HIV), HIV is a member of a group of viruses
called retrovirus.

Statement Il :

HIV/AIDS is not spread by mere touch or physical
contact.

[NCERT-I-39]
Pinus, Cycas = Nucellus, ovule, pollen grain
Angiosperm = Embryo sac, fruit, flower

195. (4) [NCERT-I-42]
o S R 3 ST A AT B

196. (3) [NCERT-I-47 to 51]
T iferdn - 15 - 20
SISERED - 28 -29FH
RGO Cf - 3-5f=
HUSET - UF-1BIRT

197. (3) [NC-11-247]

oo fafire @99 o T Qiwvr &R 6 oifaT et
F T A e 2| o e o ar | wee e
ST 21 oo o =) i S & e O S
&7 ¥ Wy & A A 2

198. (4) [NC-11-248, 249]

2 T ST R & BT & SER T @ SaNR i
e g &

199. (4)
H L
AIDS TeRe =T faue] & &R B 8, HIV &
& UF 99 &1 9y 21 o Reyama wveq 2
HY Il
HIV/AIDS %ae S a1 IR & &% & 4 4 78
hadl 21

200. (1)

[NCERT-II-188]

[NCERT-1-39]
of~sareT = YOIy, Fel, T
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